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HIT THE BULL’S EYE 
TEST XXIX PREMODEL III  

(ECONOMICS, GEOGRAPHY, POLITY, APTITUDE AND MENTAL ABILITY, THIRUKURAL 
& GENERAL ENGLISH) 

 
1. Which of the following is/are correctly matched pairs? 

i. Primary factors   - land and labour 
ii. Derived factors   - capital and land 
iii. Fourth factor of production - Entrepreneurship and organization 
a. i, ii   b. ii, iii    c. i, iii   
d. all the above e. Answer not known 
gpd;tUtdtw;Ws; rupahfg; nghUe;jpa ,izfs; vit? 
i. Kjd;ik cw;gj;jpf; fhuzpfs; - epyk; kw;Wk; ciog;G 
ii. ngwg;gl;l cw;gj;jpf; fhuzpfs; - %yjdk; kw;Wk; epyk; 
iii. ehd;fhtJ cw;gj;jpf; fhuzp - njhopy; KidNthu; 
a. i, ii    b. ii, iii   c. i, iii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
2. Who introduced the concept “Division of labour” in the economics? 

a. Alfred Marshall  b. Samuelson   c. Adamsmith  
d. Amartiyasen  e. Answer not known 
„NtiygFg;G Kiwia‟ mwpKfg;gLj;jpatu; ahu;? 
a. My;gpul; khu;~y;  b. rhKNty;rd;  c. Mlk;];kpj;   
d. mku;j;jpahtd;  e. tpil njhpatpy;iy 

 
3. Consider the following statements. 

I. Proportional Taxation is a method, where the rate of tax is same regardless 
the size of the income. 

II. Proportional tax leaves the relative financial status of taxed persons 
unchanged. 

a. I, II are correct  b. I only is correct  c. II only is correct  
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
I. tUkhd msitg; nghUl;gLj;jhky;> xNu khjpupahf tup tpjpg;gJ> tpfpjhr;rhu 

tup MFk;. 
II. tpfpjhr;rhu tupapy; tUkhd tpfpjj;jpw;Nfw;g> tup tpfpjKk; khWgLk;. 
a. I, II rup   b. I kl;Lk; rup   c. II kl;Lk; rup 
 d. I, II jtW   e. tpil njhpatpy;iy 
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4. Which of the following is/are direct taxes? 
i. Wealth tax    ii. Capital gains tax iii. Corporate tax iv. Value added tax 
a. i, ii, iii   b. ii, iii, iv   c. i, ii, iv   
d. all the above  e. Answer not known 
gpd;tUtdtw;Ws; Neu;Kf tupfs; vit? 
i. nry;t tup ii. %yjd Mjhatup  iii. epWtd tup iv. kjpg;G $l;Ltup 
a. i, ii, iii   b. ii, iii, iv   c. i, ii, iv  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

5. Which of the following items are exempted from GST? 
i. Petroleum products. ii. Alcoholic drinks 
iii. Electricity   iv. Vegetables and food grains 
a. i, ii, iii  b. i, iii    c. i, ii, iv   
d. all the above e. Answer not known 
GST -d; fPo; tuhjit vit? 
i. ngl;Nuhypag; nghUl;fs; ii. My;f`hy; 
iii. kpd;rhuk;   iv. fha;fwp kw;Wk; czT jhdpaq;fs;. 
a. i, ii, iii  b. i, iii    c. i, ii, iv   
d. midj;Jk;  e. tpil njhpatpy;iy 

 
6. Which of the following is/are the primary functions of money? 

i. Medium of exchange  ii. Measure of value 
iii. Store of purchasing power 
a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUtdtw;Ws; gzj;jpd; Kf;fpag; gzpfs; vit? 
i. gupkhw;wf;fUtp   ii. kjpg;gpd; msTNfhy; 
iii. thq;Fk; rf;jpapd; epiyfyd; 
a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 

 
7. Consider the following statements 

I. When India achieved independence there were only thirteen Indian 
ordinance factories in the country. 

II. First Industrial policy announced in 1948. 
III. Bombay plan was drafted in 1944 by eight Industrialists. 
a. I, II are correct  b. II, III are incorrect  c. II, III are correct 
d. I, II, III are correct e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 

I. ,e;jpah Rje;jpuk; mile;jNghJ gjp%d;W Nghu;jsthl njhopw;rhiyfs; 
kl;LNk ehl;by; ,Ue;jd. 

II. Kjy; njhopy;Jiw nfhs;if 1948-,y; ntspaplg;gl;lJ. 
III. Vl;L njhopyjpgu;fshy; 1944-,y; gk;gha; jpl;lk; tiuT nra;ag;gl;lJ. 
a. I, II rup   b. II, III jtW   c. II, III rup   
d. I, II, III rup  e. tpil njhpatpy;iy 
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8. fPo;f;fz;ltw;Ws; jtwhdij Njh;e;njLf;fTk;  

1. xUtDf;F M$o; Njhd;wpdhy; Nrhk;gy; Vw;gLk;.  
2. xUtDf;F Ngh$o; Njhd;wpdhy; Nrhh;tpy;yhj Kaw;rp cz;lhFk;  
3. xUtDf;F ,oT+o; Njhd;wpdhy; mwpahikia cz;lhf;Fk;  
a. 1, 3  b. 1, 2  c. 2, 3  d. 1, 2, 3  e. tpil njhpatpy;iy  
Choose the incorrect statements 
1. Perseverance comes from a adverse fate 
2. Idleness from an prosperous fate 
3. An adverse fate produces folly 
a. 1, 3  b. 1, 2   c. 2, 3   d. 1, 2, 3  e. Answer not known 

 
9. The conditions for PSU come under Maharatna status is/are? 

i. Three years with an average annual net profit of over ` 2500 crore. 
ii. Average annual Turnover of ` 20000 crore for 5 years. 
iii. Average Annual Net worth of ` 10000 crore for 3 years. 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
kfhuj;dh njhopw;rhiyfSf;fhd epge;jidfs; vit? 
i. ruhrhpahf Mz;Lf;F epfuyhgk; ₹ 2500 Nfhb vd %d;W Mz;LfSf;F 

,Uf;f Ntz;Lk; 
ii. ruhrhp Mz;L tUtha; 5 Mz;LfSf;F ₹ 20000 Nfhb 
iii. ruhrhp Mz;L epfu kjpg;G 3 Mz;LfSf;F ₹ 1000 Nfhb 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 

 
10. Which of the following is one of the method to monitor purchasing power? 

a. Wholesale Price Index   b. Producer Price Index 
c. Consumer Price Index   d. Industrial Production Index 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j xd;W thq;Fk; rf;jpiaf; fz;fhzpg;gjw;fhd Kiw? 
a. nkhj;jtpw;gid tpiy FwpaPl;L vz; b. cw;gj;jpahsu; tpiy FwpaPl;L vz; 
c. Efu;Nthu; tpiy FwpaPl;L vz;  d. njhopw;rhiy cw;gj;jp FwpaPl;L vz; 
e. tpil njhpatpy;iy 

 
11. Choose the correct statements about Tiruppur. 

i. Tiruppur is formed for clustering of a large number of firms producing 
cotton knitwear. 

ii. It contributes 70% of the country‟s cotton knitwear exports. 
iii. It is one of the most dynamic cluster in the Global South. 
a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
jpUg;G+u; gw;wpa $w;Wfspy; rupahdit vit? 
i. jpUg;G+uhdJ gpd;dyhil jahupf;Fk; Vuhskhd epWtdq;fspd; njhFg;GfSf;F 

Gfo;ngw;w ,lk;. 
ii. ,J ehl;bd; gUj;jp gpd;dyhil Vw;Wkjpapy; fpl;lj;jl;l 70% gq;fpidf; 

nfhz;Ls;sJ. 
iii. cyfr; re;ijapy; njw;F miuf;Nfhsj;jpy; xU rf;jp tha;e;j njhFg;ghf 

,e;j ,lk; cs;sJ. 
a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
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12. Which of the following statements about Globalization is/are correct? 
i. Opening exclusive public sector enterprises to private sector. 
ii. Integration of the domestic economy with the rest of the world. 
iii. Opening the doors to FDI and FPI. 
a. i, ii, iii b. ii, iii c. i, iii  d. i, ii  e. Answer not known 
gpd;tUk; $w;Wfspy; cyfkakhjy; gw;wp rupahdit vit? 
i. nghJj;Jiw epWtdq;fis jdpahu; Jiwf;F khw;wpaikj;jy; 
ii. cs;ehl;Lg; nghUshjhuj;ijAk; Vida cyf nghUshjhuj;ijAk; 

,izg;gJ. 
iii. may;ehl;L Neub KjyPL (FDI) kw;Wk; may;ehl;L njhFg;G (FPI) 

KjyPLfSf;fhd fjTfisj; jpwe;J itg;gJ. 
a. i, ii, iii b. ii, iii c. i, iii  d. i, ii  e. tpil njhpatpy;iy 

 

13. According to International Monetary Fund, World Economic outlook, GDP of 
India in 2016 at current prices was ____ 
a. $ 2521 billion  b. $ 2215 billion   c. $ 5221 billion 
d. $ 2251 billion  e. Answer not known 
gd;dhl;L gz epjpaj;jpd; (IMF) fzpg;Gg;gb> 2016-y; ,e;jpahtpd; cs;ehl;L 
nkhj;j cw;gj;jpapd; (GDP) msT _____. 
a. $ 2521 gpy;ypad;  b. $ 2215 gpy;ypad;  c. $ 5221 gpy;ypad;  
d. $ 2251 gpy;ypad;  e. tpil njhpatpy;iy 

 

14. Which of the following organization was setup to negotiate with international 
firms and approve FDI in select areas? 
a. Competition commission b. FIPB c. Central Board of Direct taxes 
d. Ministry of finance  e. Answer not known 
gpd;tUtdtw;wpy; Nju;e;njLf;fg;gl;l gFjpfspy; Neub ntspehl;L KjyPL nra;a 
gd;dhl;L epWtdq;fSld; ntspehl;L KjyPl;il Cf;Ftpf;fTk; Vw;gLj;jg;gl;l 
mikg;G? 
a. Nghl;bf; FO  b. FIPB   c. kj;jpa Neub tup 
thupak; 
d. epjpj;Jiw   e. tpil njhpatpy;iy 

 

15. Which of the following statements about EXIM policy is/are correct? 
i. The Ministry of Commerce and Industry announced New Foreign Trade 

Policy on 1st April on 2015 
ii. It focuses on increasing in exports scenario boosting production and 

supporting the concepts like Make in India and Digital India. 
iii. EXIM Policy (2015-2020) is expected to double share of India in world from 

present level of 5% by the year 2020. 
a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; Vw;Wkjp - ,wf;Fkjpf; nfhs;if (EXIM POLICY) gw;wp 
rupahdit vit? 
i. tu;j;jf kw;Wk; njhopy;Jiw mikr;rfk;> 2015 Mk; Mz;L Vg;uy; 1 md;W 

,f;nfhs;ifia mwptpj;jJ. 
ii. Kjd;ikahd Nehf;fk; Vw;Wkjp #oy;fis Nkk;gLj;Jjy;> cw;gj;jp mjpfupg;G 

kw;Wk; ,e;jpahtpy; jahupg;Nghk;> kpd;dZ ,e;jpah jpl;lq;fSf;F 
Mjutspj;jy;. 
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iii. jw;NghJ cyf tu;j;jfj;jpy; 5% khf ,Ue;j ,e;jpahtpd; gq;if 2020-f;Fs; 
Vw;Wkjp ,wf;Fkjpf; nfhs;if (2015-2020) ,Uklq;F mjpfupf;Fk;. 

a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
16. cyfj;jpd; ,ay;G Copd; ghh;itapy; ,uz;L tifg;gl;lJ mit ahit?  

1. nry;t Kiw    2. ,uT Kiw  
3. ,utr;rKiw    4. mwpT Kiw  
a. 1, 2   b. 2, 3   c. 3, 4   d. 1, 4   e. tpil njhpatpy;iy  
Two different natures in the world, these are ______ 
1. wealth     2. Mendicancy 
3. The Dread of Mendicancy  4. Knowledge 
a. 1, 2   b. 2, 3   c. 3, 4   d. 1, 4   e. Answer not known 
 

17. Consider the following statements. 
Assertion (A): Thoothukudi is known as “Gateway of Tamilnadu”. 
Reason (R):  Thoothukudi is the major chemical producer in  
   Tamilnadu. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):  J}j;Jf;Fb “jkpo;ehl;bd; EioTthapy;” vd;W  

    miof;fg;gLfpwJ. 
fhuzk; (R): jkpo;ehl;bd; Ntjpg;nghUl;fs; cw;gj;jp ikakhf J}j;jf;Fb  

    tpsq;FfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
18. Which of the following statements is/are correct? 

i. Ragnar Frisch, a Norwegian economist coined the words „micro‟ meaning  
small and „Macro‟ meaning large in the year 1933. 

ii. Macroeconomics in its modern form, began with John Maynard Keynes and 
his book “The General Theory of Employment, Interest and Money”, 
published in 1936. 

iii. Keynes is regarded as the „Father of Economics‟. 
a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
i. ehu;Ntiar; Nru;e;j nghUspay; ty;Yeu; Nuf;du; /gpu;];r; vd;gtu; rpwpa vd 

nghUs; nfhz;likf;Nuh kw;Wk; ngupa vd;W nghUs; nfhz;l Nkf;Nuh vDk; 
gjq;fis 1933-y; cUthf;fpdhu;. 

https://www.ytamizh.com/thirukural/chapter-107/
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ii. Ngupay; nghUshjhuj;jpd; etPd tbtkhdJ [hd; Nkdhl; fPd;]; - 1936 Mk; 
Mz;L ntspapl;l “Ntiytha;g;G> tl;b kw;Wk; gzk; gw;wpag; nghJf; 
Nfhl;ghL” E}ypypUe;J Njhd;wpaJ. 

iii. fPd;]; nghUshjhuj;jpd; je;ij vd miof;fg;gLfpd;wdu;. 
a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 

19. Consider the following statements. 
I. In a mixed economy, the fear of nationalization discourages the private 

entrepreneurs in their business operation and innovative initiatives. 
II. The inequality of capitalism and inefficiency of socialism are found in mixed 

economies. 
a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. fyg;G nghUshjhu mikg;gpy; Njrpakakhf;Fjy; gw;wpa gak; ,Ug;gjhy; 

jdpahu; njhopy; KidNthu;fs; thzpg eltbf;iffisAk; Gjpjhf;f 
Kaw;rpfisAk; RUf;fptpLfpd;wdu;. 

II. Kjyhspj;Jtj;jpd; rkj;Jtkpd;ikAk;> rkju;kj;jpd; jpwikapd;ikAk; fyg;Gg; 
nghUshjhuj;jpy; fhzg;gLfpd;wd. 

a. I, II rup b. I rup  c. II rup  d. I, II jtW e. tpil njhpatpy;iy 
 

20. Arjun borrowed a sum of ` 5,000 from a bank at 5% per annum.  Find the 
amount to be paid at the end of three year. 
a. ` 5,750  b. ` 5,500   c. ` 6,500   
d. ` 4,500  e. Answer not known 
mu;[{d; xU tq;fpapypUe;J Mz;Lf;F 5% tl;b tPjk; ` 5000If; fldhfg; 
ngw;whu;.  %d;W Mz;Lfspd; Kbtpy; mtu; nrYj;j Ntz;ba nkhj;jj; 
njhifia fhz;f. 
a. ` 5,750  b. ` 5,500   c. ` 6,500   
d. ` 4,500  e. tpil njhpatpy;iy 

 

21. The value of a motor cycle 2 years ago was ₹70000. It depreciates at the rate of 
4% p.a. Find its present value. 
a. 65312  b. 64312    c. 64512  
d. 65412  e. Answer not known 
Xh; ,U rf;fu thfdj;jpd; tpiy 2 Mz;LfSf;F Kd; &.70000 Mf ,Ue;jJ. 
mjd; kjpg;G Mz;LNjhWk; 4% tPjk; FiwfpwJ vdpy;> mjd; jw;Nghija 
kjpg;igf; fhz;f 
a. 65312  b. 64312    c. 64512  
d. 65412  e. tpil njhpatpy;iy 

 

22. A T.V set was sold for Rs. 14,400 after giving successive discounts of 10% and 
20% respectively. What was its marked price? 
a. Rs. 21,000  b. Rs. 19,000   c. Rs. 20,500  
d. Rs. 20,000   e. Answer not known 
njhlh; js;Sgbfs; KiwNa 10%, 20% vd;wthW xU njhiyf;fhl;rpg; ngl;b &. 
14>400f;F tpw;fg;gl;lJ vdpy; mjd; Fwpj;j tpiy vd;d? 
a. Rs. 21,000  b. Rs. 19,000   c. Rs. 20,500  
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d. Rs. 20,000   e. tpil njhpatpy;iy  
 

23. Find the compound interest on Rs 3125 for 3 years if the rates of interest for the 
first, second and third year are respectively 4%, 5% and 6% per annum. 
a. Rs. 492. 25  b. Rs. 724   c. Rs. 1562   
d. Rs. 3617.25  e. Answer not known  
Kjy;> ,uz;lhk; kw;Wk; %d;whk; Mz;Lf;fhd tl;b tpfpjq;fs; KiwNa 4%, 5% 
kw;Wk; 6% vdpy;> 3 Mz;LfSf;F &.3125f;F $l;Ltl;biaf; fhz;f 
a. Rs. 492. 25  b. Rs. 724   c. Rs. 1562   
d. Rs. 3617.25  e. tpil njhpatpy;iy 

 
24. fPo;f;fz;ltw;Ws; rhpahdij Njh;e;njLf;fTk;. 

1. vd;d Ez;zwpT ngw;wpUe;jhYk; xUtuJ mwpTepiyia KbT nra;tJ 
Co;jhd;.  

2. CohdJ ey;topapy; nry;tk; Nrh;j;jiyf; nfLf;fyhk;;  
3. CohdJ jPtopapy; nry;tk; <l;Ltjw;F JizAkhfyhk;  
a. 1 kl;Lk; b. 2, 3   c. 1, 3   d. 1, 2, 3  e. tpil njhpatpy;iy  
Choose the correct statements 
1. Eventhough one has great knowledge fate is the deciding factor 
2. Fate can prevent the accumulation of wealth in a good way 
3. Fate can help the accumulation of wealth in a bad way 
a. 1 only b. 2, 3  c. 1, 3  d. 1, 2, 3 e. answer not known 

 
25. Find the principal if the difference between C.I and S.I on it at 15% p.a for 3 years 

is ₹ 1134. 

a. ₹ 22000  b. ₹ 20000    c. ₹ 18000   

d. ₹ 16000  e. Answer not known 
15% Mz;L tl;bapy; 3 Mz;LfSf;F fpilj;j jdptl;bf;Fk; $l;Ltl;bf;Fk; 
,ilNaAs;s tpj;jpahrk; &.1134 vdpy;> mriyf; fhz;f 
a. ₹ 22000  b. ₹ 20000    c. ₹ 18000   

d. ₹ 16000  e. tpil njhpatpy;iy 
 

26. Choose the correct statements. 
i. GDP deflator is an index of price changes of goods and services included in 

GDP. 

ii. GDP deflator = 
Nominal GDP

Real GDP
 × 100 

a. i, ii   b. i only    c. ii only   
d. none  e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. GDP Fiwg;ghd; vd;gJ GDP apy; Fwpg;gpl;Ls;s gz;lq;fs; kw;Wk; gzpfspd; 

tpiykhw;w FwpaPl;nlz;. 

ii. GDP Fiwg;ghd; = 
GDP

GDP

gzkjpg; G 

cz;ik 
× 100 

a. i, ii   b. i kl;Lk;    c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 
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27. Consider the following statements 
Assertion (A): During inflation, debtors are the gainers while the 
    creditors are losers. 
Reason (R):  The debtors had borrowed when the purchasing power 
    of money was high and now repays the loans when the 
    purchasing power of money is low due to rising prices. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is true, but (R) is false 
c. (A) is false but (R) is true  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
$w;W (A):  gztPf;f fhyj;jpy; fld; ngw;Nwhu; Mjhaj;ijAk;> fld;  
   toq;fpNahu; ,og;igAk; re;jpf;fpd;wdu;. 
fhuzk; (R): fld; thq;fpanghOJ gzkjpg;G cau;thfTk; gztPf;f 

fhyj;jpy; jpUg;gpr; nrYj;Jk; nghOJ gzkjpg;G Fiwthf 
,Ug;gjhy; fld; thq;fpNahu; Mjhakilfpd;wdu;. 

a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
28. Choose the incorrect statements about Reserve Bank of India.  

i. It controls the Fiscal policy of India  

ii. It commence its operations on 1 july 1935 

iii. The RBI act was enacted in 1934 

iv. It was nationalized on 1 January 1949 
a. i and ii   b. iii and iv   c. ii and iii    
d. i and iii   e. Answer not known 
,e;jpa upru;t; tq;fp gw;wpa $w;Wfspy; jtwhdit vit? 
i. ,J epjpf; nfhs;ifapid Nkyhz;ik nra;fpwJ 
ii. [_iy 1> 1935 Kjy; nray;gLfpd;wJ. 
iii. ,e;jpa upru;t; tq;fp rl;lk; 1934-,y; ,aw;wg;gl;lJ. 
iv. [dtup 1> 1949 ,y; Njrpakakhf;fg;gl;lJ. 
a. i kw;Wk; ii kl;Lk;  b. iii kw;Wk; iv  c. ii kw;Wk; iii kl;Lk;  
d. i kw;Wk; iii   e. tpil njhpatpy;iy 

 
29. Consider the following statements 

Assertion (A) : RBI acts as Banker's Bank  
Reason (R)  : The Banks can borrow from the RBI by keeping eligible  
     securities as collateral at the time of need or crisis,  
     when there is no other source.  
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a. Both (A) and (R) are true and (R) is the correct explanation of (A)  
b. (A) is true but (R) is false  
c. (A) is false but (R) is true  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A)  
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):  RBI tq;fpfspd; tq;fpahfr; nray;gLfpwJ. 
fhuzk; (R): tzpf tq;fpfSf;F jPu;f;f ,ayhj epjpr;rpf;fy;fs;  
   Vw;gLk;nghOJ> epjpf;fhd kw;w Mjhuq;fs; ,y;yhj  
   #o;epiyapy; mr;rpf;fypypUe;J kPs;tjw;F RBI tq;fp  
   <l;Lf;flid mspj;J cjTfpwJ. 

a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F 
e. tpil njhpatpy;iy 

 
30. Consider the following statements. 

I. Foreign Portfolio Investment is an investment in hedge funds, insurance 
companies, pension funds, and mutual funds. 

II. FPI is part of capital account of Balance of Payments. 
a. I, II are correct  b. I is correct   c. II is correct  
d. none   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. ntspehl;L epjp %yjdk; vd;gJ gzre;ij kw;Wk; Kd;Ngu epjp re;ijfspy; 

epjp epWtdq;fs; topahf nra;ag;gLk; epjp %yjdk;. 
II. Ntspehl;L epjp %yjdk; thzpgr; nrYj;Jr; rkepiy %yjdf; fzf;fpd; xU 

gFjp. 
a. I, II rup   b. I rup    c. II rup    
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

31. Which of the following is correctly matched? 
i. Article 112: Annual Financial Statement of Union Government. 
ii. Article 116: Definition of money bill. 
iii. Article 202: Annual Financial Statement of State Government. 
a. i, ii   b. i, iii     c. ii, iii   
d. i, ii, iii  e. Answer not known 
gpd;tUtdtw;Ws; rupahfg; nghUe;jpait? 
i. tpjp 112 – kj;jpa murpd; tUlhe;jpu epjp mwpf;if. 
ii. tpjp 116 – gzkNrhjhtpw;fhd epjp mwpf;if. 
iii. tpjp 202 – khepy murpd; tUlhe;jpu epjp mwpf;if 
a. i, ii   b. i, iii     c. ii, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 
 

  



 

11 | Page  044-24339436, 42867555, 9840226187 
 

32. $w;W (A): Cohy; jkf;F chpait my;yhj nghUs;fs; tUe;jpf;  
    fhg;ghw;wpdhYk; jq;fhky; NghFk;> jkf;F chpa nghUs;fisg;  
    Gwj;Nj Ngha; vwpe;Jtpl;lhYk; jk;ik tpl;L mfyh. 
fhuzk; (R): Ciotpl kpf;f typikAs;sit NtW vit cs;sd? Cio  
  tpyf;Fk; nghUl;L kw;nwhU topia Muha;e;jhYk; mq;Fk; jhNd  
  Kd;te;J epw;Fk;.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fkhFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fky;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy  

Assertion (A) Whatever is not conferred by fate cannot be preserved although it 
be guarded with most painful care; and that, which fate has made his, cannot be 
lost, although one should even take it and throw it away. 
Reason (R): What is stronger than fate? If we think of an expedient (to avert it), it 
will itself be with us before (the thought). 
a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
 

33. Match the following 
Finance Commission  Chairman 
A. Twelfth    1. Vijay L. Kelkar 
B. Thirteenth    2.  C. Rangarajan 
C. Fourteenth   3. Y.V. Reddy 
D. Fifteenth    4. N.K. Singh 
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf. 
epjpf;FO    jiytu; 
A. gd;dpnuz;lhtJ   1. tp[a; L. Nfy;fu; 
B. gjp%d;whtJ   2. C. uq;fuh[d; 
C. gjpehd;fhtJ   3. Y.V. nul;b 
D. gjpide;jhtJ   4. N.K. rpq; 
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
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34. Match the following. 
A. Gandhian plan  1. S.N. Agarwal 
B. People‟s plan  2. J.P. Narayan 
C. Sarvodya plan  3. M.N. Roy 
 A B C  
a. 1 2 3 
b. 2 3 1 
c. 1 3 2 
d. 3 1 2 
e. Answer not known 
nghUj;Jf. 
A. fhe;jpaj;jpl;lk;  1. S.N. mfu;thy; 
B. kf;fs; jpl;lk;  2. J.P. ehuhaz; 
C. ru;Nthjpahjpl;lk;  3. M.N. uha; 
 A B C  
a. 1 2 3 
b. 2 3 1 
c. 1 3 2 
d. 3 1 2  e. tpil njhpatpy;iy 
 

35. Consider the following statements 
I. First conference of GATT was held in 1947 (Switzerland). 
II. Uruguay Round is the Final Rounds of GATT (1986 - 1994). It paved way 

for setting of WTO. 
III. The WTO Agreement came into force on March 1, 1995. 
IV. At present 188 countries are the members of WTO 
a. I, II, III, IV are correct b. I, III are correct  c. I, II are correct  
d. II, IV are correct  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. GATT mikg;gpd; Kjy; khehL 1947 Mk; Mz;L ];tpl;ru;yhe;jpy; 

eilngw;wJ. 
II. GATT- apd; filrp khehL cUFNt Rw;W (1986 - 1994) MFk;. ,JNt 

cyf tu;j;jf ikak; Njhd;w toptFj;jJ. 
III. WTO cld;gbf;if eilKiwf;F te;j ehs; khu;r; 1> 1995. 
IV. WTO tpy; jw;NghJ 188 ehLfs; cWg;gpdu;fshf cs;sdu;. 
a. I, II, III, IV rup  b. I, III rup   c. I, II rup   
d. II, IV rup   e. tpil njhpatpy;iy 
 

36. The High Yielding Varieties (HYV) used in green revolution were  
1. Rice   2. Wheat   3. Maize   4. Jowar  
Which is correct? 
a. 1, 2  b. 1, 2, 3 c. 1, 2, 3, 4 d. 1, 2, 4   e. Answer not known 
gRik Gul;rpapy; mjpf tpisr;ry; jUk; ufq;fs; vjpy; gad;gLj;jg;gl;lJ? 
1. muprp  2. NfhJik  3. kf;fhr;Nrhsk;  4. Nrhsk; 
rupahdtw;iwj; Nju;e;njLf;f. 
a. 1, 2  b. 1, 2, 3 c. 1, 2, 3, 4 d. 1, 2, 4   e. tpil njhpatpy;iy
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37. Match the following  
A. Jupiter     1. Titan 
B. Saturn     2. Triton 
C. Uranus    3. Deimos 
D. Neptune    4. Titania 
E. Mars     5. Callisto  
 A B C D E 
a. 5 1 4 2 3  
b. 3 4 1 2 5  
c. 3 4 1 5 2 
d. 5 3 4 1 2  e. Answer not known 
nghUj;Jf:  
A. tpahod;    1. ill;ld; 
B. rdp    2. biul;ld;  
C. ANud];    3. Bk];  
D. neg;bA+d;   4. illhdpah  
E. nrt;tha;    5. Nfyp];Nlh  
 A B C D E 
a. 5 1 4 2 3  
b. 3 4 1 2 5  
c. 3 4 1 5 2 
d. 5 3 4 1 2  e. tpil njhpatpy;iy 
 

38. Which of the following statements is/are correct? 
1. Himalayan Mountains are the youngest fold mountains  
2. Himalayan Mountain is known as “The roof of the world” 
3. The Pamir Knot popularly known as “The abode of Snow”. 
4. Eastern Himalayas is known as Tibetan Himalayas  
a. 1, 2, 3, 4 are correct  b. 1, 2, 3 are correct   c. Only 1, 4 are correct  
d. Only 1 is correct   e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. ,kakiyj; njhlu;fs; ,sk; kbg;G kiyj; njhlu;fs; MFk;. 
2. ,kakiy “cyfpd; $iu” vd miof;fg;gLfpwJ. 
3. gkPu;Kbr;R “gdp ciwtplk;” vd miof;fg;gLfpwJ. 
4. fpof;F ,kakiyj;njhlu; “jpngj;jpad; ,kakiy” vdTk; miof;fg;gLfpwJ. 
a. 1>2>3>4 rup   b. 1>2>3 rup   c. 1>4 kl;Lk; rup   
d. 1 kl;Lk; rup  e. tpil njhpatpy;iy 
 

39. Consider the following statements 
1. The north-south extent of India is 2933 Km  
2. The east-west extension is 3214 Km  
3. Sikkim is the smallest state (Area wise) 
4. Rajasthan is the largest state (Area wise) 
5. India‟s central meridian is 82°30‟ E longitude it passes through Mirzapur, 

Uttar Pradesh   
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a. 3, 4, 5 are correct   b. 1, 2, 3 are incorrect  c. 1, 2, 3 are correct   
d. 1, 3, 5 are correct   e. Answer not known  
gpd;tUk; $w;Wfis Ma;f 
1. ,e;jpah 2933 fp.kP tlf;F njw;F tiu gutpAs;sJ 
2. ,e;jpah 3214 fp.kP tiu fpof;F – Nkw;fhf gutpAs;sJ. 
3. rpf;fpk; ,e;jpahtpd; kpfr;rpwpa khepyk; (gug;gstpd;gb) 
4. uh[];jhd; ,e;jpahtpd; kpfg;ngupa khepyk; (gug;gstpd;gb) 
5. ,e;jpahtpd; kj;jpa jPu;f;fNuif vd;gJ 82°30‟ fpof;F. ,J cj;jpugpuNjrj;jpy; 

kpu;rhG+u; topahf nry;fpwJ. 
a. 3>4>5 rhp   b. 1>2>3 jtW   c. 1>2>3 rhp   
d. 1>3>5 rup   e. tpil njhpatpy;iy 
 

40. Jwg;ghh;kd; ____________ ,y;yhh; cww;ghy  
Cl;lh fopAk; vdpd;.  
a. Jg;ghh;f;F    b. Jg;ghf;fp      c. Jg;GuT 
d. Jg;G     e. tpil njhpatpy;iy  
thuRappaarman ________ villaar uRaRpaala 
oottaa kazhiyu menin 
a. thupparku   b. thuppaki    c. thuppura 
d. thuppu   e. Answer not known 
 

41. Assertion (A): All rivers originating from the Himalayas are perennial  
Reason (R): Himalayas receive much of their percipitation from south 

-western monsoon    
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true and R is not the correct explanation of A 
c. A is true but R is false  
d. A is false but R is true    
e. Answer not known 
$w;W (A) : ,kakiyapy; cUthFk; MWfs; midj;Jk; tw;whj [Ptejpfshfj; 
jpfo;fpd;wd. 
fhuzk; (R) : ,kakiy ngUk;ghyhd kiog; nghopit njd;Nkw;F gUtj;jpd; 
%yk; ngWfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 
b (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 
tpsf;fky;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rup 
e. tpil njhpatpy;iy 
 

42. The western part of the central Highland is _____. 
a. Bundelkhand  b. Bagelkhand         c. Chhota – Nagpur Plateau 
d. Malwa Plateau  e. Answer not known 
kj;jpa cau;epyg;gFjpapd; Nkw;Fg; gFjp ____. 
a. gz;ly; fz;l  b. ghfy; fz;l;  c. Nrhl;lh ehf;G+u; gPlG+kp 
d. khstg; gPlG+kp  e. tpil njhpatpy;iy 
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43. Consider the following 

I. Normal lapse rate: Temperature decreases at the rate of 65°C for every 
1000 meters  

II. Weather refers to the state of atmosphere of a place at a given point of 
time. 

III. The word „monsoon‟ is derived from the Arabic word „mausim‟ which 
means „season‟. 

IV. Sahara desert is the driest place on the earth. 
a. I, II, III, IV are correct b. I, III, IV are correct  c. I, II are correct 
d. II, III are correct  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. ,ay;G ntg;g tPo;r;rp : Gtpgug;gpypUe;J caNu nry;ynry;y 

tspkz;lyj;jpy; xt;nthU 1000kP cauj;jpw;Fk; 65°C ntg;gepiy 
FiwtJ. 

II. thdpiy vd;gJ xU Fwpg;gpl;l ,lj;jpy; cs;s tspkz;lyj;jpd; 
jd;ikiaf; Fwpg;gjhFk;. 

III. “khd;#d;” vd;wnrhy; “nksrpk;” vd;w muG nrhy;ypypUe;J ngwg;gl;lJ. 
,jd; nghUs; gUtfhyk;. 

IV. r`huhg; ghiytdk; G+kpapNyNa twz;l gFjpahFk;. 
a. I, II, III, IV rup  b. I, III, IV rup   c. I, II rup   
d. II, III rup   e. tpil njhpatpy;iy 
 

44. Which of the following soil is very rich in humus? 
a. Laterite soil  b. Alluvial soil  c. Black soil   
d. Mountain soil  e. Answer not known 
gpd;tUk; ve;j kz;zpy; mjpfkhd ,iykf;F rj;Jf;fs; cs;sd? 
a. ruis kz;  b. tz;ly; kz;  c. rupry; kz;   
d. kiykz;   e. tpil njhpatpy;iy 
 

45. The marked price of an article is 20% more than its cost price.  A discount of 10% 
is given.  After discount the price is Rs.518.40.  What is the cost price? 
a. 480   b. 576    c. 596   
d. 598   e. Answer not known 
xU nghUspd; mlf;ftpiyia tpl Fwpj;j tpiy 20% mjpfk;.  me;j 
nghUSf;F 10% js;Sgb jug;gLfpwJ.  js;Sgbf;F gpd; nghUspd; tpiy 
&.518.40 vdpy;> me;j nghUspd; mlf;ftpiy vd;d? 
a. 480   b. 576    c. 596   
d. 598   e. tpil njhpatpy;iy 

 

46. The cost of a machine is ₹ 18000 and it depreciates at 
2

16
3

% annually. Its value 

after 2 years will be ________. 

a. ₹ 12000 b. ₹ 12500 c. ₹ 15000 d. ₹ 16500 e. Answer not known 
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Xh; ,ae;jpuj;jpd; tpiy &.18000. mJ Mz;Lf;F 
2

16
3

% tPjk; Nja;khdk; 

milfpwJ. 2 Mz;LfSf;Fg; gpwF> mjd; kjpg;G _______ MFk; 

a. ₹ 12000 b. ₹ 12500 c. ₹ 15000 d. ₹ 16500 e. tpil njhpatpy;iy 
47. A sum of money at simple interest amounts to RS. 815 in 3 years and to 854 in 4 

years. The sum is 
a.  Rs. 650  b. Rs. 690   c. Rs. 698   
d. Rs. 700  e. Answer not known 
xU njhif jdptl;bapy; 3 tUlj;jpy; &.815 MfpwJ. mJNt> 4 tUlj;jpy; &. 
854 MfpwJ vd;why;  me;j njhif vt;tsT? 
a. Rs. 650  b. Rs. 690   c. Rs. 698   
d. Rs. 700  e. tpil njhpatpy;iy 

 
48. "mwpT mw;wk; fhf;Fk; fUtp" vd;w nrhw;nwhlhpd; nghUs; ahJ?  

a. mwpT> gif tuhky; fhf;Fk; fUtpahFk;. 
b. mwpT> ehit fhf;Fk; fUtpahFk;  
c. mwpT> Gfo; tuhky; fhf;Fk; fUtpahFk;  
d. mwpT> mopT tuhky; fhf;Fk; fUtpahFk;  
e. tpil njhpatpy;iy 
Give meaning of the following line  
aRivatranG kaakkunG karuvi  
a. Knowledge is a tool to prevent enmity 
b. Knowledge is the tool that control the tongue 
c. Knowledge is a tool to prevent fame 
d. Knowledge is a tool to prevent destruction 
e. Answer not known 

 
49. A sum Rs. 800 amount to Rs. 915.92 in two years. Then the compound interest 

rate is    
a. 6%  b. 4%  c. 7%  d. 8%  e. Answer not known 
&. 800 vd;w mry; ,uz;lhz;L Kbtpy; &. 915.92 MfpwJ vdpy; $l;L tl;b 
rjtPjk; fhz;f. 
a. 6%  b. 4%  c. 7%  d. 8%  e. tpil njhpatpy;iy 

 
50. Gain or loss percent is always calculated on the  _______.  

a. cost price   b. selling price   c. gain    
d. loss   e. Answer not known 
,yhg my;yJ el;l rjtPjk; vg;nghOJk; _______ Nky; fzf;fplg;gLk;  
a. mlf;ftpiy  b. tpw;gid tpiy  c. ,yhgk;    
d. el;lk;  e. tpil njhpatpy;iy 
 

51. Which of the following statements about alluvial soil is/are correct? 
1. Rich in nitrogen 
2. Poor in Potash 
3. Distribution: Ganga and Brahmaputra river valleys. 
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4. Crops growing : Rice, wheat, sugarcane, oilseeds. 
a. 1,2,3,4 are correct  b. 1,2,3 are correct  c. Only 1,2 are correct 
d. Only 3,4 are correct e. Answer not known 
 
 
tz;lykz; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
1. iel;u[d; rj;J mjpfk;. 
2. nghl;lhrpak; rj;J kpf FiwT. 
3. guty; : fq;if kw;Wk; gpuk;kGj;jpuh Mw;Wg; gs;sjhf;Ffs;. 
4. tsUk; gapu;fs; : ney;> NfhJik> fUk;G> vz;nza; tpj;Jf;fs;. 
a. 1>2>34 rup   b. 1>2>3 rup   c. 1>2 kl;Lk; rup  
d. 3>4 kl;Lk; rup  e. tpil njhpatpy;iy 
 

52. Which of the following statements is/are correct? 
1. India is the second largest producer of rice in the world after Bangladesh. 
2. Rice is a tropical crop, grows mainly with mean temperatures of 22°C and 

annual rainfall of 130cm. 
3. Wheat crops requies 10-15°C temperature at the time of sowing and 20-25°C 

at the time of ripening. 
4. Rajasthan is the largest producer of Jowar. 
5. Jowar and bajra are the indigenous plant of Africa. 
6. Barely is used for making beer and whisky. 
a. 1,2,3,4  b. 1,2,3    c. 3,5,6   
d. 3,4,5  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. cyfstpy; muprp cw;gj;jpapy; tq;fNjrj;jpw;F mLj;J ,e;jpah 

,uz;lhkplj;jpy; cs;sJ. 
2. ney; xU mad kz;lyg;gapu;. 22°C ntg;gepiy 130 nr.kP. kiog;nghopT ney; 

tpisa Vw;wit. 
3. NfhJik tpisa tpijf;Fk; gUtj;jpy; 10-15°C ntg;gKk;> KjpUk; epiyapy; 

20-25°C ntg;gepiyAk; Njitg;gLfpwJ. 
4. Nrhsk; cw;gj;jpapy; ,e;jpahtpy; ,uh[];jhd; Kjd;ik cw;gj;jpahsuhf 

tpsq;FfpwJ. 
5. fk;G kw;Wk; Nrhsk; Mg;gpuf;fhitg; G+u;tpfkhff; nfhz;lit. 
6. ghu;yp gPu; kw;Wk; tp];fp jhaupf;fg; gad;gLj;jg;gLfpwJ. 
a. 1> 2> 3> 4  b. 1> 2> 3    c. 3> 5> 6   
d. 3> 4> 5  e. tpil njhpatpy;iy 
 

53. Which of the following statements is/are correct? 
1. India is ranked third in sugarcane production in the world after Cuba and 

Brazil. 
2. India is the second largest producer of sugar in the world. 
3. Uttar Pradesh is the leading producer of sugarcane. 
4. Chattisgarh is known as sugarbowl of India. 
a. 1, 2, 3, 4  b. 1, 2, 3    c. 1,2    
d. only 3  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpah fUk;G cw;gj;jpapy; fpA+gh> gpNurpy; mLj;J cyfstpy; %d;whkplk;. 
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2. ,e;jpah ru;f;fiu cw;gj;jpapy; cyfstpy; ,uz;lhkplk;. 
3. ,e;jpahtpy; cj;jug;gpuNjrk; fUk;G cw;gj;jpapy; Kjd;ik khepykhf cs;sJ. 
4. rj;jP];fu; ,e;jpahtpd; ru;f;fiuf; fpz;zk; vd;wiof;fg;gLfpd;wJ. 
a. 1> 2> 3> 4  b. 1> 2> 3    c. 1> 2    
d. 3 kl;Lk;  e. tpil njhpatpy;iy 

54. Which of the following statements is/are correct? 
1. First Jute mill in India was established at Rishra near Kolkata by George 

Auckland. 
2. India is first in export of jute goods. 
3. Central Silk Technological Research Institute was established in 1983. 
a. 1, 2, 3 b. 1, 2  c. 2, 3  d. 1, 3  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpd; Kjy; rzy; Miy nfhy;nfhj;jh mUfpy; up~;uh vd;Dkplj;jpy; 

[hu;[; Mf;yhe;J vd;gtuhy; njhlq;fg;gl;lJ. 
2. ,e;jpah rzy;nghUl;fs; Vw;Wkjpapy; Kjyplk;. 
3. kj;jpa gl;L tsu;g;G thupak; 1983-,y; epWtg;gl;lJ. 
a. 1, 2, 3 b. 1, 2  c. 2, 3  d. 1, 3  e. tpil njhpatpy;iy 
 

55. Match the following 
Name of Industry    Establishment Year 
A. TISCO     1. 1982 
B. IISCO     2. 1972 
C. Salem Steel Company   3. 1923 
d. Visweshwaraya Iron Steel Company 4. 1911 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 4 1 2 3 
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf 
njhopw;rhiyapd; ngau;    Mz;L 
A. TISCO      1. 1982 
B. IISCO      2. 1972 
C. Nryk; v/F Miy    3. 1923 
D. tp];Nt];tua;ah ,Uk;G v/F epWtdk; 4. 1911 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 4 1 2 3 
d. 4 2 1 3 
e. tpil njhpatpy;iy 
 

56. cs;sk; Nghd Nghf;Ffspy; nry;ytplhky;> jPikapdpd;W ePf;fp ed;ikapd;fz;  
nrYj;JtJ vJ?  
a. el;G   b. ,Lk;ig     c. mwpT   
d. Gfo;  e. tpil njhpatpy;iy  
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Not to permit the mind to go where it lists, to keep it from evil, and to employ it 
in good, this is __________ 

 a. friendship  b. suffering    c. wisdom 
d. fame  e. Answer not known 

57. Which of the following statements is/are incorrect? 
I. North-South corridor connecting Srinagar with Kanniyakumari 
II. Distance covered by North-South corridor is 4076 km. 
III. East – West corridor connects Slichar with Ahamadabad. 
IV. Distance covered by East-West corridor is 3460km. 
a. I, II  b. II, IV c. I, III  d. II, III e. Answer not known 
gpd;tUk; $w;Wfspy; jtwhdit vit? 
I. tl-njd; gFjpfis ,izf;Fk; rhiy =efu; kw;Wk; fd;dpahFkup 

,ilNa mike;Js;sJ. 
II. tl-njd; rhiyapd; ePsk; 4076 fp.kP. 
III. fpof;F – Nkw;F rhiy rpy;ru; kw;Wk; mfkjhghj;ij ,izf;fpwJ. 
IV. fpof;F – Nkw;F gFjpfis ,izf;Fk; rhiyapd; ePsk; 3460 km. 
a. I, II  b. II, IV c. I, III  d. II, III e. tpil njhpatpy;iy 
 

58. Match the following  
Railway Zone   Headquarter 
A. Eastern Railway   1. Hazipur 
B. East Coast Railway  2. Kolkata 
C. Central Railway   3. Mumbai 
D. East-Central Railway  4. Bhubaneswar 
 A B C D 
a. 2 1 3 4 
b. 2 3 4 1 
c. 2 4 3 1 
d. 2 4 1 3 
e. Answer not known 
nghUj;Jf 
kz;lyk;    jiyikaplk; 
A. fpof;F ,uapy;Nt  1. `rpg;G+u; 
B. fpof;F flw;fiu ,uapy;Nt 2. fy;fj;jh 
C. kj;jpa ,uapy;Nt   3. Kk;ig 
D. fpof;F kj;jpa ,uapy;Nt 4. GtNd];tu; 
 A B C D 
a. 2 1 3 4 
b. 2 3 4 1 
c. 2 4 3 1 
d. 2 4 1 3 
e. tpil njhpatpy;iy 
 

59. Match the following 
National Waterways Place 
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A. NW1   1. Sadiya to Dhubri 
B. NW2   2. Allahabad to Haldia 
C. NW3   3. Talcher to Dharma 
D. NW5   4. Kollam to Kottapuram 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf 
Njrpa ePu;top   ,lk; 
A. NW1   1. rhbahtpypUe;J Jg;uptiu 
B. NW2   2. myfhghj;jpypUe;J `hy;jpah 
C. NW3   3. jhy;rupapypUe;J jhk;uh 
D. NW5   4. nfhy;ykpypUe;J Nfhl;lGuk; 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

60. Arrange the following in descending order based on their iron content 
i. Hematite   ii. Magnetite  iii. Siderite   iv. Limonite  
a. i, ii, ii, iv  b. i, ii, iv, iii   c. ii, i, iii, iv   
d. ii, i, iv, iii  e. Answer not known 
gpd;tUk; jhJf;fis mtw;wpd; ,Uk;gpd; msT mbg;gilapy; ,wq;Ftupirapy; 
vOJf. 
i. N`kill;  ii. Nkf;dill;  iii. rpliul;  iv. ypNkhidl; 
a. i, ii, ii, iv  b. i, ii, iv, iii    c. ii, i, iii, iv   
d. ii, i, iv, iii  e. tpil njhpatpy;iy 
 

61. Arrange the following in ascending order based on their iron content? 
i. Bituminous  ii. Peat  iii. Anthracite  iv. Lignite 
a. i, ii, iv, iii  b. ii, i, iv, iii   c. ii, iv, i, iii  
d. ii, i, iii, iv  e. Answer not known 
gpd;tUtdtw;iw mtw;wpd; fhu;gd; msit mbg;gilahf nfhz;L VWtupirapy; 
mikf;fTk;. 
i. gpl;Lkpd];  ii. gPl;  iii. Me;jpuhirl;  iv. ypf;idl; 
a. i, ii, iv, iii  b. ii, i, iv, iii   c. ii, iv, i, iii   
d. ii, i, iii, iv  e. tpil njhpatpy;iy 
 

62. Which of the following is/are incorrectly matched? 
Minerals    India‟s Rank  
i) Iron Ore   - 1. 4th  
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ii) Manganese  - 2. 6th  
iii) Bauxite   - 3. 5th  
iv) Gold   - 4. 33rd  
a. i, ii  b. iii, iv c. ii only d. none e. Answer not known 
gpd;tUtdtw;Ws; nghUj;jkw;wij Njh;T nra;f. 
fdpkq;fs;     ,e;jpahtpd; juk; 
i) ,Uk;Gj;jhJ  - 4tJ 
ii) khq;fdPR   - 6tJ 
iii) ghf;i]l;   - 5tJ 
iv) jq;fk;   - 33tJ 
a. i, ii    b. iii, iv   c. ii kl;Lk;   
d. vJTkpy;iy  e. tpil njhpatpy;iy  
 

63. Which of the following race has the smallest limb ratio? 
a. Negroid   b. Caucasoid    c. Mongoloid    
d. Australoid  e. Answer not known 
gpd;tUk; ve;j ,dj;jth; kpfr;rpwa %l;L tpfpjj;ij nfhz;Ls;sdh;? 
a. ePf;uha;L  b. fhfrha;L   c. kq;Nfhyha;L   
d. M];l;uyha;L e. tpil njhpatpy;iy 
 

64. $w;W (A) : cyfj;J cah;e;jtiu el;ghf;fpf;nfhs;tJ rpwe;j mwpT.  
fhuzk; (R): Kd;Nd kfpo;e;J tphpjYk; gpd;Nd tUe;jpf; FtpjYk; ,y;yhJ  
   mwpT  

a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fkhFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fky;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy  
Assertion (A): To secure the friendship of the great is true wisdom 
Reason (R): it is (also) wisdom to keep (that friendship unchanged, and) not 
opening and closing (like the lotus flower). 
a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
 

65. Match the following: 
A. Grasslands   1. Aborigines  
B. Tropical Deserts   2. Kyrghizs  
C. Mountainous Region  3. Gujjar  
D. Monsoon Region   4. Todas  
E. Artic cold regions   5. Chukchi 
 A B C D E 
a. 1 2 3 4 5 
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b. 2 1 4 3 5 
c. 2 1 3 4 5 
d. 5 1 4 2 3 
e. Answer not known 
 
nghUj;Jf. 
A. Gy;ntsp    1. mghhp[pd;]; 
B. ntg;gkz;ly ghiytsq;fs; 2. fph;fp]; 
C. kiyg; gpuNjrk;   3. F[;[hh; 
D. gUtf;fhw;W gpuNjrk;  4. Njhlh;fs; 
E. JUt Fsph; gpuNjrk;  5. Rf;fp 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 1 3 4 5 
d. 5 1 4 2 3 
e. tpil njhpatpy;iy 
 

66. The largest tribal group in India is  
a. Nagas   b. Todas    c. Santhals    
d. Gonds  e. Answer not known 
,e;jpahtpd; kpfg;nghpa goq;Fbapd FO?  
a. ehfh;fs;  b. Njhlh;fs;   c. rhe;jyh;fs;   
d. Nfhd;Lfs;  e. tpil njhpatpy;iy 
 

67. Match the following 
A. Active Volcano   1. Paricutin, Mexico 
B. Dormant Volcano  2. Mt. Fuji, Japan 
C. Extinct and Dead Volcano 3. Mt. Kilimanjaro, Tanzania 
D. Volcanic Dome   4. Mt. St. Helens, U.S.A 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3  
c. 4 3 2 4 
d. 4 2 3 1 
e. Answer not known 
nghUj;Jf:  
A. nray;gLk; vhpkiy  1. ghpFl;bd; nkf;]pNfh 
B. jzpe;j vhpkiy   2. gp[pkiy [g;ghd;  
C. ,we;j vhpkiy    3. fpspkQ;rNuh kiy jd;rhdpah  

D. Fk;kl;l vhpkiy   4. nrapd;l; n`yd; kiy> U.S.A 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3  
c. 4 3 2 4 
d. 4 2 3 1 
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e. tpil njhpatpy;iy 
 

68. Which is not the erosional landforms of waves. 
a. Sea Cave, Sea Arch b. Seas tuck, Seas Cliff  c. Bar and Spit 
d. Wave cut platforms e. Answer not known 
miy mhpj;jyhy; cUthf;fg;gLk; epyj;Njhw;wk; ,y;yhjJ?  
a. fly; Fif> fly; tisT   b. fly;J}z;> fly;Yq;fs;  
c. kzy;jpl;L> ePz;l kzy; jpl;L  d. miy mhpNkil  
e. tpil njhpatpy;iy 
 

69. Match the following 
Name of the cyclone  Year 

 A. JAL    1. 2010 
B. THANE    2. 2011 
C. NILAM    3. 2012 
D. MADI    4. 2013 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3  
c. 4 3 2 1  
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf:  
Gaypd; ngah;fs;    Mz;Lfs;  
A. [y;    1. 2010 
B. jhNd    2. 2011 
C. ePyk;    3. 2012 
D. khjp    4. 2013  
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3  
c. 4 3 2 1  
d. 4 3 1 2  
e. tpil njhpatpy;iy 
 

70. A sum of money amounts to Rs. 2,662 at the rate of 10% compounded annually 
for 3 Yr. The sum of money is 
a. Rs. 2,000  b. Rs. 1,800    c. Rs. 1,500   
d. Rs. 2,500  e. Answer not known 
10% Mz;L tl;bapy; Mz;Lf;nfhUKiw tl;b fzf;fplg;gl;lhy;> 3 Mz;Lfspy; 
_______ vd;w mryhdJ & 2>662 njhifahf MFk;.  
a. & 2>000  b. & 1>800    c. & 1>500   
d. &. 2>500   e. tpil njhpatpy;iy 

 

71. A shopkeeper bought a chair for ₹ 325 and sold it for ₹ 350. Find the profit 
percentage. 
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a. 
9

7 %
13

 b. 
1

3 %
3

 c. 6%  d. 12%  e. Answer not known 

xU filf;fhuh; ehw;fhypia &.325,f;F thq;fp &.350,f;F tpw;gid nra;fpwhh;> 
,yhgr; rjtPjj;ijf; fz;lwpaTk;. 

a. 
9

7 %
13

 b. 
1

3 %
3

 c. 6%  d. 12%  e. tpil njhpatpy;iy 

72. fPo;f;fz;ltw;Ws; rhpahdijf; Njh;e;njLf;fTk;.  
1. mQ;RtJ mQ;Qhik mwpTilik  
2. mQ;RtJ mQ;ry; Ngjik  
3. mwpTilath; (Ntnwhd;Wk; ,y;yhjpUg;gpDk;) vy;yhk; cilatNu Mth;.  
4. mwptpy;yhjhh; NtW vd;d cilatuhf ,Ug;gpDk; xd;Wk; ,y;yhjtNu Mth; 
a. 1, 2   b. 2, 4   c. 1, 3   d. 3, 4   e. tpil njhpatpy;iy  
Choose the correct statement 
1. Not to fear what ought to be feared, is wisdom 
2. It is the work of the folly to fear what should be feared 
3. Those who possess wisdom, possess every thing; 
4. Those who have not wisdom, whatever they may possess, have nothing. 
a. 1, 2   b. 2, 4   c. 1, 3   d. 3, 4   e. Answer not known 
 

73. In a laboratory, the count of bacteria in a certain experiment was increasing at 
the rate of 2.5% per hour. Find the number of bacteria at the end of 2 hours if the 
initial count was 5,06,000. 
a. 5,31,616  b. 5,28,976   c. 5,67,190   
d. 5,43,974  e. Answer not known 
xU Ma;tfj;jpy;> Xh; Muha;r;rpapy; xU tif ghf;Bhpahf;fspd; vz;zpf;if xU 
kzpf;F 2.5% tPjk; mjpfhpf;fpd;wJ. njhlf;fj;jpy; 5>06>000 ghf;Bhpahf;fs; 
,Ue;jhy;> 2 kzp Neuj;jpw;F gpwF mjd; vz;zpf;if vd;d? 
a. 5,31,616  b. 5,28,976   c. 5,67,190   
d. 5,43,974  e. tpil njhpatpy;iy 

 
74. Ashwin deposited Rs. 200 per month for 5 years in a recurring deposit account in 

a post office. If he received Rs. 13,830, then the rate of interest is 
a. 4%      b. 5%  c. 6%       d. 7%  e. Answer not known 
m~;tpd; xt;nthU khjj; Jtf;fj;jpYk; &. 200I Xu; mQ;ryfj;jpy; 5 
Mz;LfSf;F nrYj;jp te;jhu;. Kbtpy; mtu; &. 13>830 ngw;whu; vdpy;> tl;b 
tpfpjk; 
a. 4%      b. 5%  c. 6%       d. 7% e. tpil njhpatpy;iy 

 
75. A Trader has 500 kg of rice, part of which he sells at 8% profit and the rest at 18 

% profit. He gains 10 % on the whole. The quantity sold at 18 % profit is 
a. 100 kg  b. 200 kg    c. 300 kg    
d. 400 kg  e. Answer not known 
xU tzpfh; jd;dplKs;s xU gFjp mhprpia 8 rjtpfpj yhgj;jpw;Fk; kPjpia 18 
rjtpfpj yhgj;jpw;Fk; tpw;gid nra;jjpy; nkhj;jKs;s 500 fpNyh mhprpf;F 10 
rjtpfpj yhgk; ngw;whh;. mth; 18 rjtpfpj yhgj;jpw;F tpw;w mhprpapd; 
msthdJ? 
a. 100 fpNyh  b. 200 fpNyh   c. 300 fpNyh  
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d. 400 fpNyh  e. tpil njhpatpy;iy 
 

76. Dumhal is dance form of 
a. Assam   b. Arunachal Pradesh  c. Uttar Pradesh 
d. Jammu and Kashmir e. Answer not known 
Jkhy; vd;w tif ehl;bak; Njhd;wpa khepyk;  
a. m];]hk;   b. mUzhr;ryg;gpuNjrk;   c. cj;jpug;gpuNjrk; 
d. [k;K kw;Wk; fh~;kPh;  e. tpil njhpatpy;iy 

77. India was described as Land of „unity and diversity‟ by whom and where 
a. Rabindranath Tagore in Gitanjali 
b. Mahatma Gandhi in „My Experiments with Truth‟ 
c. Jawaharlal Nehru in „Discovery of India‟ 
d. Subash Chandra Bose in „An Indian Pilgrim‟ 
e. Answer not known 
,e;jpah "Ntw;Wikapy; xw;Wik fhZk; ehL" vd vq;F ahuhy; tUzpf;fg;gl;lJ? 
a. utPe;jpuehj jh$h; jkJ fPjhQ;rypapy;  
b. kfhj;kh fhe;jp jkJ "rj;jpa Nrhjidapy;  
c. [tfh;yhy; NeU jkJ "b];fthpd; Mg; ,z;bah tpy;  
d. Rgh~; re;jpuNgh]; jkJ "xU ,e;jpag; Gdpjg; gazk;"  
e. tpil njhpatpy;iy 
 

78. Consider statements regarding National Flag. 
1. Length and width are in Proportion 3:2 
2. First national flag was designed by Tirupur Kumaran. 
3. First Indian flag was woven in Gudiyatham, Vellore 
4. Karnataka Khadi Gramodyoga Samyukta Sanga, Hubli is only licensed flag 
Production unit in country. 
5. flag was adopted on 22 July 1947. 
a. All the above  b. 1, 2 and 3 only  c. 1, 2, 3 and 4 only  
d. 1, 3, 4 and 5 only   e. Answer not known 
ekJ Njrpaf;nfhbf;Fg; nghUj;jkhdtw;iw> fPo;f;fz;ltw;Ws; Njh;e;njLf;FTk; 
1. ePs mfyk; - 3 : 2 vd;w tpfpjk;  
2. Kjy; Njrpaf; nfhb jpUg;G+h; Fkudhy; tbtikf;fg;gl;lJ 
3. Kjy; ,e;jpaf; nfhb Fbahj;jk; (NtY}h;) ,y; nerT nra;ag;gl;lJ  
4. nfhb 22.07.1947 md;W mq;fPfhpf;fg;gl;lJ  
a. midj;Jk; rhpahdit  b. 1> 2 kw;Wk; 3  c. 1> 2> 3 kw;Wk; 4  
d. 1> 3> 4 kw;Wk; 5  e. tpil njhpatpy;iy 
  

79. How many women members and total members were there in the constituent 
assembly 
a. 18 and 389   b. 15 and 300   c. 15 and 389   
d. 18 and 300   e. Answer not known 
murpay; epu;za rigapy; ,Ue;j ngz; cWg;gpdu; kw;Wk; nkhj;j cWg;gpdu; 
vz;zpf;if ahJ? 
a. 18 Kjy; 389   b. 15 Kjy; 300  c. 15 Kjy; 389  
d. 18 Kjy; 300   e. tpil njhpatpy;iy 
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80. ahUf;F mth; eLq;Fk;gbahf tuf;$ba Jd;gk; xd;Wk; ,y;iy?  

a. te;jij mwpe;J fw;Wf;nfhs;sty;y mwpTilath;f;F 
b. tug;Nghtij mwpe;J Kd;Nd fhj;Jf; nfhs;sty;y mwpTilath;f;F  
c. te;j gpwF fhj;Jf;nfhs;syhk; vd;W epidg;gth;f;F  
d. ,it midj;Jk;  
e. tpil njhpatpy;iy  
 
No terrifying calamity will happen to whom? 
a. For the wise who can know and learn what has come 
b. Foresee and guard against coming evils. 
c. For those who think they can manage after happening 
d. All of these 
e. Answer not known 
 

81. Which of the following is not fundamental right? 
a. Right to vote    b. Right to freedom 
c. Right to constitutional remedies d. Right to education 
e. Answer not known 
fPo;f;nfhLf;fg;gl;ltw;Ws; vJ mbg;gil chpik MfhJ?  
a. xl;Lhpik     
b. Rje;jpu chpik 
c. murpay; eph;zar; rl;lg; gbahd jPh;T ngWk; chpik 
d. fy;tp ngWk; chpik 
e. tpil njhpatpy;iy 
  

82. Match the following with correct options 
A. Gram Sabha   1. Municipal Commissioner 
B. Panchayat Union   2. Executive officer 
C. Town Panchayat   3. Block development officer 
D. City Municipal Corporation 4. Permanent body 

  A B C D 
 a. 4 2 3 1 
 b. 4 3 2 1 
 c. 2 3 4 1 
 d. 3 2 4 1 

e. Answer not known 
nghUj;Jf: 
A. fpuhk rig    1. Kdprpgy; Mizah;  
B. gQ;rhaj;J A+dpad;  2. nray; mjpfhhp  
C. efu gQ;rhaj;J    3. gpshf; tsh;r;rp (tl;lhu mjpfhhp) 
D. efu Kdprpgy; fhh;g;gNu~d; 4. epue;ju mikg;G  

  A B C D 
 a. 4 2 3 1 
 b. 4 3 2 1 
 c. 2 3 4 1 
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d. 3 2 4 1  e. tpil njhpatpy;iy 
 

83. Consider statement regarding function of Tamilnadu Governor  
I. acts as the chancellor of universities 
II. Promulgate ordinance when both houses are not in session. 
III. impose financial emergency under Article 360 
IV. appoints advocate general, chairman and members of state public service 

commission. 
a. I, II, and III only  b. I, II, III and IV    c. I, II, IV   
d. III, IV   e. Answer not known 
MSehpd; nray;ghLfs; Fwpj;j gpd;tUk; nra;jpfspy;> rhpahdtw;iwf; Fwpg;gpLf.  
I. gy;fiyf; fofq;fspd; Nte;juhf nray;gLthh; 
II. ,U mitfSk; nray;glhjNghJ> mtrur;rl;lk; gpwg;gpf;fyhk;  
III. epjp rk;ge;jg;gl;l mtru epiyg;gpufldj;ij rl;l$W 360 fPo; 

mwptpf;fyhk;.  
IV. nghJ tof;FiwQh;> khepy gzpahsh; Njh;Tf; FOj; jiyth; kw;Wk; 

cWg;gpdh;fis epakpf;fyhk;  
a. I, II kw;Wk; III   b. I, II, III kw;Wk; IV   c. I, II, IV  
d. III, IV    e. tpil njhpatpy;iy 
 

84. Qualification of high court Judge can be  
1. Must be a citizen of India 
2. Must have 10 year experience in head of Judicial office in territory of India. 
3. Must has 10 year experience as advocate in one or more High Court. 
4. or an eminent Jurist in opinion of President 
a. 1 and 4 only  b. 2 and 4 only   c. 1, 2 and 3 only  
d. All the above  e. Answer not known 
cah;ePjpkd;w ePjpgjpapd; jFjpahf vitfUjg;gLfpd;wd?  
1. ,e;jpaf; Fbkfdhf ,Uf;f Ntz;Lk;  
2. ,e;jpa / epjpj;Jiw mYtyfj;jpy; 10 Mz;Lfs; jiyikg; gjtp 
tfpj;jpUf;f Ntz;Lk;.  
3. xd;W / xd;Wf;F Nkw;gl;l cah;ePjp kd;wq;fspy; gj;JtUlq;fs; tof;fwpQuhf 
gzpGhpe;j mDgtk; Ntz;Lk;  
4. FbauRj; jiytuhy; kpfr; rpwe;j ePjpj;Jiw epGzh; vd;w rhd;W ngw;wpUf;f 
Ntz;Lk;.  
a. 1 & 4 kl;Lk;  b. 2 & 4    c. 1, 2, & 3 kl;Lk;  
d.  ,it midj;Jk;  e. tpil njhpatpy;iy 
 

85. Consider following statement and choose correct option 
I. Constitution provides only single citizenship and uniform rights to promote 
unity and fraternity 
II. Overseas citizens of India cardholder is an Indian citizen who is residing 
outside India and holds an Indian passport 
a. I only   b. II only   c. Both I and II  
d. None of above  e. Answer not known 
fPo;f;nfhLf;fg;gl;ltw;wpypUe;J rhpahd tpiliaj; Njh;T nra;aTk;  
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I. murpayikg;Gr; rl;lk;> xw;iw FbAhpik mspf;fpwJ. Vnddpy; rkchpik> 
rNfhjhuj;Jtk; Mfpad ghJfhf;f KbAk;  
II. ntspehl;L FbAupik nfhz;l ,e;jpahtpy; trpg;gjw;fhd ml;il 
itj;jpUg;gtu; ,e;jpa Fbkfd;> mtu;> ,e;jpa flTrPl;bidg;ngw;W ntspehl;by; 
trpg;gtu; Mtu; 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJTkpy;iy   e. tpil njhpatpy;iy 
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86. Statement 1: Indian council act 1892 introduced the concept of indirect election 
for the first time. 
Statement 2: Direct elections was held for first time in 1920 under British India as 
per Montague Chelmsford Reforms Act. 
Correct statement is  
a. One only   b. two only   c. Both one and two  
d. None of the above e. Answer not known 
$w;W 1 : Kjd; Kjypy; kiwKfj; Njh;jy; KiwahdJ 1892 ,e;jpa 
fTd;rpy;fs; rl;lk; %yk; mwpKfg;gLj;jg;gl;lJ.  
$w;W 2 : gphpl;b~; ,e;jpahtpy; khz;NlF nrk;];Nghh;L  
rPh;jpUj;jq;fs; rl;lk; %yk; 1920-y; Kjd; Kjyhf Neub Njh;jy;fs; eilngw;wd.  
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. VJTkpy;iy  e. tpil njhpatpy;iy 
 

87. Consider following statement, choose correct answer from codes given below. 
Assertion (A): Leader of opposition plays a significant role to play in Indian 
Parliamentary System. 
Reasoning (R): He is Chairman of Public Accounts Committee, selects  
Chairman of Central Vigilance Commission, Information Commission. 
a. (A) alone is correct and (R) is incorrect. 
b. (A) and (R) are correct and (R) is correct explanation of (A). 
c. (A) and (R) are in correct 
d. (A) and (R) are correct but (R) is not correct explanation. 
e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf: 
$w;W (A) : ,e;jpag; ghuhSkd;w Kiwapy; vjph;f;fl;rp jiyth;  
gjtpahdJ Kf;fpag;gq;F tfpf;fpwJ. 
fhuzk; (R) : ,th; nghJf; fzf;Ff; FOtpd; jiytuhfTk; kj;jpa tpopg;G 
Mizak; kw;Wk; kj;jpa jfty; Mizaj;jpd; jiyth;fisj; Njh;T 
nra;gtuhfTk; cs;shh;. 
a. (A) kl;Lk; rhp> (R) jtW  
b. (A) kw;Wk; (R) rhp kw;Wk; (R) vd;gJ (A) d; rhpahd tpsf;fkhFk;  
c. (A) kw;Wk; (R) jtW  
d. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy 
 

88. $w;W (A)  : nghpNahhpd; ,ay;G rpw;wpdj;ij mQ;rp xJf;Fk; 
fhuzk; (R): rpwpNahhpd; ,ay;G rpw;wpdj;ijNa Rw;wkhf vz;zpj; jOtpf;  
   nfhs;Sk;.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fkhFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fky;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy  
Assertion (A): True greatness fears the society of the base 
Reason (R): it is only the low - minded who will regard them as friends. 
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a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
 

89. Consider the following statements. 
Statement 1: Meaning of Franchise denotes right to elect. 
Statement 2 : Universal adult franchise creates legal equality. 
Choose wrong statements. 
a. One only   b. Two only   c. Both One and Two 
d. None of the above e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf.  
$w;W 1 : thf;Fhpik vd;gJ Njh;T nra;ag;gLk; chpikiaf; Fwpf;fpwJ.  
$w;W 2 : taJ te;Njhh; thf;Fhpik rl;l rkj;Jtj;ij cUthf;FfpwJ  
jtwhd $w;Wfisj; Njh;f.  
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 ,uz;L 
d. vJTkpy;iy   e. tpil njhpatpy;iy 
 

90. Match the following and choose correct one  
A. Social  1. Rights exercised information and administration of  

government. 
B. Economic  2. Basic right offered by law to everyone 
C. Cultural  3. Rights that assure enjoyment of culture and its 

components 
D. Political  4. conditions to meet basic need is ensured. 
E. Civil  5. guarantees equal treatment and Participation of all 

citizens. 
F. Human Rights 6. Inalienable and inherent rights to all humans 
 A B C D E F 
a. 1 2 3 4 5 6 
b. 5 4 3 1 6 2 
c. 5 4 3 1 2 6 
d. 5 6 3 2 1 4 
e. Answer not known 
nghUj;Jf:  
A. r%f  1. murhq;fj;jpd; kPjhd jfty; (k) eph;thf chpikfisj;  

jUfpwJ.  
B. nghUshjhu 2. midtUf;Fk; rl;lj;jhy; toq;fg;gl;Ls;s mbg;gil  

chpikfs;  
C. fyhr;rhu   3. fyhr;rhuk; kw;Wk; mjd; $Wfis mDgtpf;Fk; 
chpikfs;  
D. murpay;   4. mbg;gil Njitfis epiwNtw;Wk; #oy;fs;  
E. Fbapay;   5. midj;J Fbkf;fSf;Fk; rk me;j];J (k) rk  

gq;FNfw;gpid cWjp nra;jy;   
F. kdpj chpikfs;  6. midj;J kdpjh;fSf;fhd khw;wpj;ju ,ayhj (k)  

cs;shh;e;j chpikfs;  
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 A B C D E F 
a. 1 2 3 4 5 6 
b. 5 4 3 1 6 2 
c. 5 4 3 1 2 6 
d. 5 6 3 2 1 4 
e. tpil njhpatpy;iy 
 

91. Choose the correct following statements regarding Fundamental Duties. 
1. They were incorporated under 44th constitutional Amendment Act. 
2. They were based on provisions of Verma Committee recommendation. 
3. Original constitution had 10 Fundamental Duties. 
4. Latest duty to provide opportunity for education to child or ward was added 

by 86th constitutional Amendment 2002. 
a. 1 and 2 only b. 1, 2 and 3 only   c. 3 and 4 only  
d. 4 only  e. Answer not known 
mbg;gilf; flikfs; njhlh;ghd rhpahd $w;Wfis fhz;f 
1. ,it 44tJ murpayikg;Gj; jpUj;jr; rl;lk; %yk; ,izf;fg;gl;ld.  
2. th;kh FOtpd; ghpe;Jiug;gbahd $Wfisf; nfhz;lit  
3. %y murpayikg;ghdJ 10 mbg;gilf; flikfisf; nfhz;bUe;jJ. 
4. 86 tJ murpayikg;Gj; jpUj;jk; 2002-d; gb Foe;ijfSf;F fy;tpaspf;Fk; 

flikahdJ Gjpjhf ,izf;fg;gl;ljhFk;  
a. 1 kw;Wk; 2 kl;Lk;  b. 1, 2 kw;Wk; 3 kl;Lk;  c. 3 kw;Wk; 4 kl;Lk;  
d. 4 kl;Lk;    e. tpil njhpatpy;iy 
 

92. Match the following and choose correct one 
Article Provisions 

A. Article 24  1. Free and compulsory education upto 14 years 
B. Article 21 A 2. No child below 14 years can be employed in hazardous  

employment 
C. Article 45  3. Right to free and compulsory education to all children of 6  

to 14 years. 
D. Article 39  4. Provision of opportunity for healthy development of  

children 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 a 
c. 2 3 4 1 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf:  
rl;lf;$Wfs;     rpwg;Gfs;  
A. ruj;J 24  1.14 taJ tiu ,ytr kw;Wk; fl;lha fy;tpaspj;jy;  
B. ruj;J 21A  2. mghafukhd gzpfspy; 14 tajpw;Fl;gl;l Foe;ijfs;  

gzpGhpa jil  
C. ruj;J 45  3. 6 – 14 tajpw;Fl;gl;l midj;J Foe;ijfSk; 

,ytr kw;Wk; fl;lha fy;tpngWk; chpik  
D. ruj;J 39  4. Foe;ijfSf;F ey Nkk;ghl;bw;fhd tha;g;gpid mspj;jy;  
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 A B C D 
a. 1 2 3 4 
b. 4 3 2 a 
c. 2 3 4 1 
d. 2 3 1 4 
e. tpil njhpatpy;iy 
 

93. Match the following committee and recommendation 
A. Balwant Rai Mehta (1957)  1. 3 tier panchayat raj 
B. Ashok Mehta (1977)   2. concept of „grass without roots‟ 
C. GVK Rao (1985)    3. 73rd and 74th constitutional Amendment Act. 
D. LM Singhvi (1986)  4. 2 tier Panchayat and involvement of political  

parties 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 4 3 2 
e. Answer not known 
nghUj;Jf: 
A. gy;te;j;uha; Nkj;jh (1957) 1. 3 mLf;F gQ;rhaj;J uh[; 
B. mNrhf; Nkj;jh (1977)  2. "Ntuw;w Gw;fs;" Kiw  
C. GVK uht; (1985)   3. 73 kw;Wk; 74tJ murpayikg;Gj; jpUj;jr;  

rl;lq;fs; 
D. vy;.vk;. rpq;tp (1986)   4. 2 mLf;F gQ;rhaj;J (k) murpay; 
fl;rpfspd;  

gq;Nfw;G  
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 4 3 2 
e. tpil njhpatpy;iy 
 

94. Only local government that can levy taxer under 3 tier panchayat. 
a. village panchayat  b. zila parishad  c. panchayat samiti  
d. Anchal samiti  e. Answer not known 
%d;wLf;F gQ;rhaj;J Kiwapd; fPo; ________ kl;LNk thp tpjpf;Fk; 
mjpfhuj;ijg; ngw;Ws;sJ. 
a. fpuhk Cuhl;rp  b. [py;yh ghp~j;  c. gQ;rhaj;J rkpjp  
d. mQ;ry; rkpjp   e. tpil njhpatpy;iy 
 

95. In how much time will the simple interest on ₹ 3,000 at the rate of 8% per annum 

be the same as simple interest on ₹ 4,000 at 12% per annum for 4 years? 
a. 4  b.  8  c. 12  d. 6  e. Answer not known 
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&.3000 mrYf;F Mz;Lf;F 8% vd toq;fg;gLk; jdptl;bahdJ &.4>000 mrYf;F 
Mz;Lf;F 12% vd 4 Mz;LfSf;F toq;fg;gLk; jdptl;bf;F epfuhFk; fhyk; 
vd;d? 
a. 4  b.  8  c. 12  d. 6  e. tpil njhpatpy;iy 

 
96. fPo;f;fz;ltw;Ws; rhpahdij Njh;e;njLf;fTk;.  

1. Nrh;e;j epyj;jpd; ,ay;ghy; ePH; NtWgl;L me;epyj;jpd; jd;ikAilajhFk;.  
2. jhk; Nrh;e;j $l;lj;jpd; ,ay;gpdhy; kf;fs; jk; mwpT epiyapy; khWth; 
3. kf;fSf;F czh;r;rp kdj;jpdhNy cz;lhFk;  
a. 1 kl;Lk;  b. 1, 2  c. 2, 3  d. 1, 2, 3  e. tpil njhpatpy;iy  
Choose the correct statements 
1. As water changes (its nature), from the nature of the soil in which it flows 
2. Will the character of men resemble that of their associates. 
3. The power of knowing is from the mind 
a. 1 only  b. 1, 2  c. 2, 3  d. 1, 2, 3 e. Answer not 
known 

 
97. At what rate percent compound interest does a sum of money become nine fold 

in 2 years?     
a. 100% b. 200% c. 300% d. 150% e. Answer not known 
$l;L tl;b Kiwapy;> xU njhifahdJ ,uz;L Mz;Lfspy; xd;gJ klq;F 
Mfpd;wJ vdpy;> mjd; tl;b tPjk; ahJ?  
a. 100% b. 200% c. 300% d. 150% e. tpil njhpatpy;iy 

 
98. A fruit seller bought 10 boxes of grapes at `.210 each.  One box was damaged.  

He sold the remaining boxes at `.250 each.  Find the profit/loss percentage 
a. 7.14% loss  b. 10.14% loss  c. 7.14% profit  
d. 10.14% profit e. Answer not known 
xU go tpahghp 10 ngl;b jpuhl;irfis xU ngl;b &.210 tPjk; thq;fpdhh;.  
mjpy; xU ngl;b jpuhl;ir mOfp tpLfpwJ.  kPjKs;s ngl;bfis xU ngl;b 
&.250 vd;w tpiyf;F tpw;fpwhh;.  ,yhg / e~;l rjtPjk; fhz;. 
a. 7.14% e~;lk; b. 10.14% e~;lk;  c. 7.14% yhgk;   
d. 10.14% yhgk; e. tpil njhpatpy;iy 

 

99. If an investor wants to receive Rs.10,000 as simple interest every month and rate 
of interest is 8% per annum then the amount he should invest is 
a. Rs. 25 lakhs b. Rs. 20 lakhs  c. Rs. 15 lakhs   
d. Rs.8 lakhs  e. Answer not known 
xU KjyPl;lhsh; gpujp khjk; jdp tl;bahf &.10>000 ngw tpUk;Gfpwhh;.  tl;b 
tPjk; Mz;Lf;F 8% vdpy; mth; KjyPL nra;a Ntz;ba njhif vd;d? 
a. &. 25 yl;rk;  b. &.20 yl;rk;  c. &. 15 yl;rk;   
d. &.8 yl;rk;  e. tpil njhpatpy;iy 

 

100. Find the compound interest on ` 1000 at the rate of 10% per annum for 18 months 
when interest is compounded half-yearly. 
a. 157.625   b. 162.571     c. 152.654    
d. 126.571   e. Answer not known 
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miu Mz;Lf;F xU Kiw tl;b mrYld; Nrh;f;fg;gl;lhy; &.1000f;F Mz;L 
tl;b tPjk; 10% tPjg;gb> 18 khjq;fSf;Ff; $l;L tl;b fhzTk;. 
a. 157.625   b. 162.571     c. 152.654    
d. 126.571   e. tpil njhpatpy;iy 
 

101. Which of the following is not federal feature of Indian constitution? 
a. Supremacy of Constitution b. Independent Judiciary 
c. Written Constitution  d. Integrated Judiciary 
e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpa murpayikg;gpd; $l;lhl;rpapd; mk;rky;yhjJ vJ?  
a. murpayikg;gpd; caujpfhuk; b. Rje;jpukhd ePjpj;Jiw  
c. vOjg;gl;l murpayikg;G  d. xUq;fpize;j ePjpj;Jiw  
e. tpil njhpatpy;iy 
 

102. Match the following with correct options.  
1. Citizenship    a. Article 5 to 13   I. Part I  
2. Fundamental rights   b. Article 12 to 35  II. Part II  
3. Directive principles of  
   state policy    c. Article 5 to 11  III. Part III 
4. Fundamental duties   d. Article 14 to 35  IV. Part IV  
     e. Article 36 to 51  V. Part V 
     f. Article 51A   VI. Part IV A  
a. 1 – c II 2 – b – III 3 – e – IV  4 – f – v 
b. 1 – c – II  2 – b – III 3 – e – IV  4 – f – VI 
c. 1 – a – II 2 – d – III 3 – e – IV  4 – f – VI 
d. 1 – a – II 2 – d – III 3 e – IV 4 – f – V 
e. Answer not known 
nghUj;Jf:  
1. FbAhpik     a. rl;l$W 5-13  I. gFjp I  
2. mbg;gilAhpik   b. rl;l$W 12-35  II. gfjp II 
3. khepy> nray;ghL rk;ge;jg;gl;l 
 tpjpf;nfhs;if    c. rl;l$W 5-11  III. gFjp III  
4. mbg;gil chpik   d. rl;l$W 14-35   IV. gFjp IV  
     e. rl;l$W 36-51  V. gFjp V 
     f. rl;l$W 51A  VI. gFjp IVA 
a. 1 – c II 2 – b – III 3 – e – IV  4 – f – v 
b. 1 – c – II  2 – b – III 3 – e – IV  4 – f – VI 
c. 1 – a – II 2 – d – III 3 – e – IV  4 – f – VI 
d. 1 – a – II 2 – d – III 3 e – IV 4 – f – V 
e. tpil njhpatpy;iy 
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103. Match following with correct options.  
Provision     Source  
A. Liberty equality    1. USSR  
B. Fundamental rights   2. France  
C. Directive principles   3. USA 
D. Fundamental duties   4. Canada  
     5. Ireland  
 A B C D 
a. 1 3 5 4  
b. 2 3 5 1  
c. 2 3 5 4  
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf:  
 fUj;J    ve;ehl;bypUe;J nfhs;if Mjhuk;  
     vLj;Jf;nfhs;sg;gl;lJ. 
A. rkj;Jt Rje;jpuk;  1. USSR 
B. mbg;gil chpikfs;  2. gpuhd;];  
C. topfhl;Lk; / gpd;gw;w  
   Ntz;ba fl;lisfs;  3. (USA) mnkhpf;f If;fpa ehL  
D. mbg;gilf; flikfs;  4. fdlh 
     5. mah;yhe;J  
 A B C D 
a. 1 3 5 4  
b. 2 3 5 1  
c. 2 3 5 4  
d. 2 3 4 1 
e. tpil njhpatpy;iy 
 

104. kde;J}ahh;f;F vr;rk;ed; whFk; ,de;J}ahh;f;F  
,y;iyed;W Mfh ______________.  
a. cyF   b. tpid     c. kiw  
d. nrhyy;  e. tpil njhpatpy;iy  
manandhooyaark kechchamnhan Raagum inandhooyaarkku 
illainhan Raagaa ________ 
a. ulagu  b. vinai    c. marai 
d. solal  e. Answer not known 
 

105. Match following with correct options  
 Schedule     Subject Matter  
A. Seventh    1. Division of powers between union & states  
B. eighth    2. Disqualification due to defection  
C. Ninth   3. Protecting laws violating fundamental rights  
        from Judicial scrutiny  
D. Tenth    4. 22 official languages  
 A B C D 
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a. 1 4 3 2 
b. 4 1 3 2  
c. 1 4 2 3  
d. 4 1 3 2 
e. Answer not known  
nghUj;Jf:  
n~l;A+y; vz;     nghUslf;fk;  
A. VohtJ   1. kj;jpa kw;Wk; khepyq;fSf;fhd mjpfhug;guty; 
B. vl;L   2. fl;rp khWtjhy; Vw;gLk; jFjp ePf;fk;  
C. xd;gJ    3. ePjpkd;w Nrhjid kw;Wk; mbg;gil chpikg;  

ghJfhg;G  
D. gj;J    4. 22 mYty; nkhopfs;  
  A B C D 
a. 1 4 3 2 
b. 4 1 3 2  
c. 1 4 2 3  
d. 4 1 3 2  
e. tpil njhpatpy;iy 
 

106. Match following with correct options.  
 Article    provision  
A. 77    1. Grant pardon, reprive, respite  
B. 53(2)   2. Privilages of president  
C. 72    3. All executive action of union taken in name of  
    president  
D. 361(1)   4. Supreme command of defence force of union  
 A B C D 
a. 2 3 4 1  
b. 3 4 1 2  
c. 4 1 2 3  
d. 1 2 3 4 
e. Answer not known 
nghUj;Jf:  
rl;l$W    nghUslf;fk;  
A. 77    1. nghJ kd;dpg;G> jz;lidf;Fiwg;G / ePf;fk;  
B. 53(2)    2. FbauRj; jiythpd; rpwg;G rYiffs;  
C. 72    4. FbauRj; jiyth; ngahpy; vLf;fg;gLk; 
nray;ghLfs;  
D. 361(1)   5. Kg;gilj; jiyth;  
 A B C D 
a. 2 3 4 1  
b. 3 4 1 2  
c. 4 1 2 3  
d. 1 2 3 4 
e. tpil njhpatpy;iy 
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107. The vice president can act as president for maximum  period of 
a. 6 months     b. 1 years    c. 5 years   
d. No time Frame provided  e. Answer not known 
FbauR Jizj;jiyth;> FbauRj;jiytuhf mjpfgl;rk; vj;jidfhyk; 
gzpahw;wyhk;?  
a. 6 khjk;    b. 1 tUlk;    c. 5 tUlk;  
d. fhyf;nfL ,y;iy   e. tpil njhpatpy;iy 
 

108. Match following with correct options.  
 Position    Minimum age  
A. President     1. 30 Years  
B. Vice president    2. 25 years  
C. Lok Sabha    3. 35 years  
D. Rajya sabha    4. 35 years  
 A B C D 
a. 1 3 2 4  
b. 3 1 2 4 
c. 3 4 1 2  
d. 3 4 2 1 
e. Answer not known  
nghUj;Jf: 
 gjtp     Fiwe;j gl;r taJ 
A. FbauRj; jiyth;  1. 30 taJ  
B. FbauRj; Jizj;jiyth; 2. 25 taJ 
C. Nyhf; rgh    3. 35 taJ 
D. uh[;argh    4. 35 taJ  
 A B C D 
a. 1 3 2 4  
b. 3 1 2 4 
c. 3 4 1 2  
d. 3 4 2 1  e. tpil njhpatpy;iy  
 

109. Which of following is not discretionary power of Governor?  
a. Article 201 – Reserve Bill for consideration of president  
b. Article 356 – Recommend imposition of president's rule in state  
c. Article 167 – seeks information from chief minister relating to administrative 
and legislative matters of state.  
d. Article 213 – power of Governor to promulgate ordinance  
e. Answer not known 
fPo;tUtdtw;Ws; vJ MSehpd; mjpfhu tuk;Gf;Fs; tuhJ?  
a. rl;l$W 201 – hprh;t; kNrhjh – FbaRj;jiyth; xg;guJYf;fhdJ 
b. rl;l$W 356 – khepyj;jpy; FbauRj;jiyth; Ml;rpia rpghhpR nra;tJ 
c. rl;l$W 167 – rl;lk; kw;Wk; ePh;thfk; njhlh;ghd jfty;fis Kjy;  
   mikr;rhplk; Nfl;Lg;ngWjy;  
d. rl;l$W 213 – rl;lj;ij mky;gLj;Jk; mjpfhuk;  
e. tpil njhpatpy;iy 
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110. Chairman and members of state public service commission is appointed and 
removed by  
a. Governor in both cases    
b. President in both case  
c. Governor and president respectively 
d. Chief Minister and prime minister respectively  
e. Answer not known 
khepy gzpahsh; nghJ Mizaj; jiyth; epakdk; / ePf;fk; ahuhy; 
nra;ag;gLfpwJ?  
a. MSeh;     
b. FbauRj; jiyth;  
c. MSeh; kw;Wk; FbauRj;jiyth; 
d. Kjy; mikr;rh; / gpujkh;  
e. tpil njhpatpy;iy 
 

111. kdj;jpd; ed;ik __________ f;F Mf;fkhFk;. 
a. caph;f;F   b. ,dj;jpw;F    c. kz;zpw;F  
d. cyfpw;F   e. tpil njhpatpy;iy  
Goodness of mind is wealth of __________ 
a. life   b. society    c. earth 
d. world  e. Answer not known 
 

112. Choose correct statements. 
Assertion (A): There are limitations on legislative authority of state legislature. 
Reason (R) : Certain bills on state list can be introduced in state legislature only 
with president's approval 
a. A is false but R is true  
b. A is true but R is false  
c. both A and R are true and R is correct reason for a  
d. Both A and R are true and R is not correct reason for A  
e. Answer not known 
rhpahd jfty;fisf; Fwpg;gplTk; 
$w;W (A) : khepy rl;lrigapd; mjpfhuk; tuk;Gf;Fl;gl;lJ 
fhuzk; (R): Fwpg;gpl;l rpy kNrhjhf;fs;> FbauRj; jiythpd; xg;GjNyhLjhd;> 
khepy rl;lrigapy; epiwNtw;wg;gLk;  

 a. (A) jtW Mdhy; (R) rhp 
 b. (A) rhp Mdhy; (R) jtW 
 c. (A) kw;Wk; (R) rhp NkYk; (R), (A) f;F rhpahd tpsf;fk;  
 d. (A) kw;Wk; (R) rhp Mdhy; (R), (A)f;F rhpahd tpsf;fk; my;y 

e. tpil njhpatpy;iy  
  

113. Who is first political thinker in Indian context? 
a. Ved vyas    b. Kautilya    c. Tholkappiyar   
d. Thiruvalluvar   e. Answer not known 
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,e;jpa mstpy;> Kjy; murpay; rpe;jidahsh; vd ahiuf; $wyhk;?  
a. Ntj tpahrh;  b. nfsby;ah;   c. njhy;fhg;gpah;  
d. jpUts;Sth;   e. tpil njhpatpy;iy 
 
 

114. Which are moral obligation of citizen to uphold unity and integrity of country?  
a. Fundamental rights   b. Preamble  
c. Fundamental duties   d. Directive principles of state policy 
e. Answer not known 
Fbkf;fspd; ve;j ePjpnewp fl;Lg;ghL ehl;bd; xw;Wik kw;Wk; xUikg;ghl;il 
ghJfhf;f cjTfpwJ?  
a. mbg;gil chpikfs;   b. Kfg;Giu 
c. mbg;gil flikfs;  d. murpd; topfhl;L newpKiwfs;  
e. tpil njhpatpy;iy 
 

115. Who said 'social democracy as a way of life that recognise liberty, equality and 
fraternity as principles of life. 
a. Jawaharlal Nehru  b. Dr. B.R. Ambedkar   c. Robert Dahl 
d. M.N. Roy    e. Answer not known 
"r%f kf;fshl;rp vd;gJ> Rje;jpuk;> rkj;Jtk; kw;Wk; rNfhjuj;Jtj;ij mbg;gil 
tpjpfshf nfhz;l xU tho;T KiwahFk;" vdf; $wpath;?  
a. [t`h;yhy; NeU  b. Dr. B.R. mk;Ngj;fh;  c. ,uhgh;l; lhy; 
d. M.N. uha;   e. tpil njhpatpy;iy  
 

116. State funding of elections was backed by 
a. Indrajith Gupta committee   b. Tarkunde committee 
c. Vohra committee    d. Tanka committee 
e. Answer not known 
murpd; epjpAjtpAldhd Njh;jy;fis Mjhpj;j FO 
a. ,e;jpu[pj; Fg;jh FO  b. jh;Fz;Nl FO  c. Nthuh FO  
d. lq;fh FO    e. tpil njhpatpy;iy 
 

117. Which was the first Indian state to go for internet voting?  
a. Punjab   b. Karnataka    c. Andhra Pradesh   
d. Gujarat   e. Answer not known 
,izak; %yk; thf;Fg;gjpT eilngw;w Kjy; ,e;jpa khepyk; vJ? 
a. gQ;rhg;  b. fh;ehlfh   c. Me;jpug; gpuNjrk;  
d.F[uhj;  e. tpil njhpatpy;iy 
 

118. Backward class commission constituted by Tamil Nadu Government is under 
chairmanship of  
a. Santhanam  b. Kaka Kalekar   c. Mandal    
d. Sattanathan  e. Answer not known 
jkpof murhy; epakpf;fg;gl;l gpw;gLj;jg;gl;Nlhh; Mizaj;jpd; jiyik 
nghWg;ig Vw;wth; 
a. re;jhdk;  b. fhfh fNyy;fh;   c. kz;ly;   
d. rl;lehjd;  e. tpil njhpatpy;iy 
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119. kdeyj;jpd; MFk; kWikkw;W m/Jk;  
,deyj;jpd; ____________ cilj;J  
a. gifth;    b. Vkhg;G     c. ,d;ik  
d. Ch;e;jhd;   e. tpil njhpatpy;iy  
mananhalam nankutaiya raayinum saandroarkku 
inanhalam ______ pudaiththu 
a. pagaivar   b. Emaap    c. inmai 
d. Oorndhan   e. Answer not known 
 

120. Match the following  
A. Kaka kalelkar commission     1. 1951 
B. First amendment       2. 1979 
C. Second backward class commission    3. 1953 
D. Indra sawhney vs Union of India case   4. 1992  
 A B C D  
a. 3 2 1 4  
b. 3 2 4 1  
c. 1 3 2 4 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf:   
A. fhfh fNyy;fh; Mizak;     1. 1951 
B. Kjy; rl;lj;jpUj;jk;     2. 1979 
C. ,uz;lhtJ gpw;gLj;jg;gl;Nlhh; Mizak;   3. 1953 
D. ,e;jpuh r`hdp vjph; ,e;jpa A+dpad; tof;F  4. 1992 
 A B C D  
a. 3 2 1 4  
b. 3 2 4 1  
c. 1 3 2 4 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
 

121. The cost price of 25 wrist watches is equal to the selling price of 20 wrist watches. 
Find the loss or gain percent. 
a. Loss 20%  b. Gain 20%    c. Loss 25%      
d. Gain 25%  e. Answer not known 
25 iff;fbfhuj;jpd; mlf;f tpiy 20 iff;fbfhuq;fspd; tpw;w tpiyf;Fr; rkk; 
vdpy; ,yhg my;yJ el;l rjtPjj;ijf; fhz;f.  
a. el;lk; 20% b. ,yhgk; 20%   c. el;lk; 25%  
d. ,yhgk; 25% e. tpil njhpatpy;iy 

 

122. The difference between compound interest and simple interest on an amount of 
Rs.15,000 for 2 years is Rs.96, then the rate of interest per annum is 
a. 12  b. 8  c. 6  d. 10  e. Answer not known 
&.15>000-f;F 2 tUlq;fSf;Ffpilf;Fk; $l;Ltl;bf;Fk;>jdptl;bf;Fk; 
cs;sNtWghL&.96 vdpy; tl;btPjk; Mz;Lf;F 
a. 12  b. 8  c. 6  d. 10  e. tpil njhpatpy;iy
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123. The population of a village increases by 10% every year. If the present 
population is 6000, what will be the population of the village after 3 years?  
a. 7966  b. 7956   c. 7936   
d. 7986  e. Answer not known 
xU fpuhkj;jpd; kf;fs; njhif xt;nthU Mz;Lk; 10% mjpfhpf;fpwJ. mjd; 
,g;Nghija kf;fs; njhif 6000 vdpy; 3 Mz;LfSf;F gpwF mf;fpuhkj;jpd; 
kf;fs; njhif vd;dthf ,Uf;Fk;?  
a. 7966  b. 7956   c. 7936   
d. 7986  e. tpil njhpatpy;iy 

 
124. Find the compound interest on ` 3200 at 2.5%p.a for 2 years, compounded 

annually. 
a. ` 150  b. ` 180   c. ` 162   
d. ` 140  e. Answer not known 
` 3200f;F  2.5% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;bf; fzf;fplg;gLk; 
Kiwapy;>  2 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 
a. ` 150  b. ` 180   c. ` 162   
d. ` 140  e. tpil njhpatpy;iy 

 
125. The simple interest at x% for x years for a sum of amount is Rs.x. Then the sum is  

a. Rs.x   b. Rs.100x   c. Rs. 
100

x
   

d. Rs. 
2

100

x
  e. Answer not known

 
xU njhiff;F rhjhuz tl;bapy;  x%tPjk; x Mz;Lf;F &. x tl;b fpilf;fpwJ 
me;j njhif vt;tsT? 

a. Rs.x   b. Rs.100x   c. Rs. 
100

x
   

d. Rs. 
2

100

x
  e. tpil njhpatpy;iy

 
 

126. Match the following 
A. Father Wolf  1. With a grey nose… feeds her four cubs 
B. Tabaqui   2. The big one from Waingunga River  
C. Mother Wolf  3. The chief of the Wolves 
D. Shere khan  4. Begs for meat and thanks for the meal  
 A B C D 
a. 3 4 1 2 
b. 3 2 1 4 
c. 2 3 1 4 
d. 4 3 1 2 
e. Answer not known 
 

127. A Childhood in Malabar is the Memoir of ________ 
a. Madhumitha Gupta b. Kamala Das  c. Savita Singh  
d. Kuswant Singh  e. Answer not known 
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128. The American Comedy Awards was introduced in the year _______ 
a. 1985 b. 1986 c. 1987  d. 1988 e. Answer not known 
 

129. Gelotology is the study of 
a. crying  b. laughing    c. anxiety    
d. depression  e. Answer not known 
 

130. “A day without laughter is a day wasted” – said by 
a. Charlie Chaplin  b. Gandhi   c. Martin Luther king 
d. N.S. Krishnan  e. Answer not known 

 
131. “Under the wide and starry sky, Dig the grave and let me lie” – said by 

a. Kalpana Chawla  b. R.L. Stevenson  c. Edwin C Bliss  
d. Neil Armstrong   e. Answer not known 
 

132. “The legacy you leave is the one you live” – said by 
a. Kalpana Chawla  b. R.L. Stevenson  c. Edwin C Bliss  
d. Abraham Lincoln e. Answer not known 
 

133. “We were scared, but our fear was not an strong as our courage” – said by 
a. Kalpana Chawla  b. Gandhi   c. Nelson Mandela  
d. Malala Yousafzai e. Answer not known 
 

134. Who was the youngest civilian to receive Ashok Chakra? 
a. Abhinandan Varthaman  b. Neerja Bhanhot 
c. Major Saravanan   d. Bhavani Dutt Joshi 
e. Answer not known 
 

135. The Ganges again! Again those ineffable days and nights, languid with joy, sad 
with longing – who said? 
a. Kalpana Chawla  b. Tagore   c. Subash Chandra Bose 
d. Jhansi Rani  e. Answer not known 
 

136. Manoj Das is a  __________ writer 
a. Odia  b. Bengali   c. Marathi   
d. Gujarat  e. Answer not known 
 

137. Tagore wrote Geetanjali in the year ________ 
a. 1910 b. 1911 c. 1912  d. 1913 e. Answer not known 
 

138. An Island of Trees was written by 
a. Rudyard Kipling  b. R.L. Stevenson  
c. Ruskin Bond  d. Rabindranath Tagore 
e. Answer not known 
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139. Ayisha and Mathi are the characters from ______ 
a. That Sunday Morning  b. Jungle Book 
c. Crossing the River  d. The Three Questions 
e. Answer not known 
 

140. Around the World in Eighty Days was written by 
a. Rudyard Kipling  b. R.L. Stevenson   c. Ruskin Bond  
d. Jules Verne  e. Answer not known 
 

141. Who was recognized leader in juvenile literature? 
a. Mary Mapes Dodge  b. Liam O‟Flaherty  
c. Alphonse Daudet   d. Mark Twain 
e. Answer not known 
 

142. “Glimpses of World History” is the collections of _______ letters 
a. 192  b. 194  c. 196  d. 198  e. Answer not known 
 

143. Name the scientist who was born on the day of Christmas 
a. Albert Einstein  b. Isaac Newton  c. Stephen Hawkins  
d. Benjamin Franklin  e. Answer not known 
  

144. Jungle Nama was the book written by 
a. Rudyard Kipling  b. Amitav Ghosh  c. Ruskin Bond  
d. Jules Verne  e. Answer not known 
 

145. The Lesson “The Dying Detective” is written by ____. 
a. Jawaharlal Nehru  b. Ruskin Bond  c. Arthur Conan Doyle 
d. Sachin Tendulkar  e. Answer not known 
 

146. According to Holmes what was the disease he was suffering from 
a. Tarpaunli fever  b. Remittent fever  c. Rheumatic fever 
d. Sudden high fever e. Answer not known 
 

147. The person who arrested Smith was _____ 
a. Sherlock Holmes  b. Mrs Hudson  c. Inspector Morton  
d. Dr. Watson  e. Answer not known 
 

148. Choose the option that contains the name of speakers and the play from which 
these lines are taken. 
“But your appearance ---? “ I said 
“Three days, fasting and the make – up did the trick”. 
a. Sachin Tendulkar from „Learning the Game‟ 
b. Sir C.V. Raman from „Water‟ 
c. Jawaharlal Nehru from „A Birthday letter‟ 
d. Arthur Canan Doyle from „The Dying Detective‟ 
e. Answer not known 
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149. The Mysterious man in Sherlock Holmes is ____. 
a. Mycroft Holmes  b. Mrs Hudson  c. Dr. Watson   
d. Culverton Smith  e. Answer not known 
 

150. Which one of the following statements is related to the lesson „The Dying 
Detective‟ – Conan Doyle. 
a. I‟ll bring him in a flight  b. I‟ll bring him in a bus 
c. “I‟ll bring him in a taxi”  d. “I‟ll bring him in a cab” 
e. Answer not known 

 
151. Who speaks the following lines in  

„Arthur Conan Doyle‟s “The Dying Detective” 
“Mr. Holmes is dying, Mr. Watson” 
For three days he has been sinking, and 
I doubt if he will last another day. 
a. Mr. Watson  b. Mrs. Hudson  c. Mr. Holmes  
d. Culverton Smith  e. Answer not known 
 

152. In the lesson „The Dying Detective‟ who was „Victor Savage‟ 
a. Smith‟s friend  b. Smith‟s sister  c. Smith‟s nephew  
d. Smith‟s father  e. Answer not known 
 

153. In which country the first true paralympic games happened. 
a. Italy   b. Rome   c. USA 
d. Australia   e. Answer not known 
 

154. In which BCE, the Romans stopped the Greek Olympic Games 
a. 364 BCE   b. 354 BCE   c. 384 BCE 
d. 394 BCE   e. Answer not known   
 

155. “Don‟t waste your time playing  
insane game with these kids” 
Whose words are these 
a. Sachin  b. Sunil Gavaskar  c. Ramakant Achrekar Sir  
d. Viv Richards e. Answer not known 
 

156. In which year Sachin Tendulkar was nominated to the Rajya Sabha. 
a. 2015 b. 2012 c.  2011 d. 2014 e. Answer not known 
 

157. The retirement was given on ____ for Sachin Tendulkar 
a. 14th November 2013 b. 15th November 2013 c. 16th November 2013 
d. 18th November 2013 e. Answer not known 
 

158. What was Sachin‟s age when he started to play cricket? 
a. 12  b. 11  c. 14  d. 13  e. Answer not known 
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159. In „Learning the game‟ who served as a personal coaching manual. 
a. Sachin‟s father  b. Sachin‟s sister  c. Sachin‟s brother  
d. Sachin‟s mother  e. Answer not known 
 

160. “I owe myself to him” 
Whose words are these 
a. Sachin Tendulkar‟s b. Ramakant Achrekar‟s  c. Viv Richards 
d. Sunil Gavaskar  e. Answer not known 
 

161. Match the authors given under Column A with the characters given under 
Column B and choose the correct answer from the codes given. 

Column A    Column B 
A. Mark Twain    1. Brown Bear 
B. William Temple Horn a day  2. Ramakant Achrekar 
C. Sachin Tendulkar   3. Mr. Watson 
D. Conan Dyle    4. Tom Sawyer 
 A B C D 
a. 4 3 2 1 
b. 4 2 1 3 
c. 3 1 2 4 
d. 4 1 2 3 
e. Answer not known 
 

162. “My father always said that all he wanted me to do was give it my best effort 
without worrying about the results. 
These lines occurs in the lesson ____ 
a. The little Hero of Holland  b. Learning the game 
c. The Woman on platform 8  d. A Birthday letter 
e. Answer not known 
 

163. „Don‟t ask for it unless you want you want it, Peter‟. Who utters these words? 
a. The young Seagull in „His first flight‟  
b. Mr. Watson in „The Dying Detective‟ 
c. Sachin in „Learning the game‟ 
d. Tom in “The cat and the painkiller” 
e. Answer not known 
 

164. In „The Mark Twain‟s‟ novel „Who was actually the character „Sid‟. 
a. Tom‟s neighbour  b. Tom‟s friend  c. Tom‟s brother  
d. Tom‟s father  e. Answer not known 
 

165. „I done it out of pity for him‟ whose words are these? 
a. Tom   b. Sid     c. Peter  
d. Aunt Polly   e. Answer not known 
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166. With whom Tom Sawyer lives? 
a. Joe Harper   b. Huckruns   c. Aunt Polly 
d. Sid    e. Answer not known 
 

167. She began to try all manners of remedies on Tom. The water treatment was new, 
now, and Tom‟s low condition was a windfall to her. 
Who does “she” refer in this given line? 
a. Aunt Polly   b. Joe Harper   c. Huckruns   
d. Tom Sawyer  e. Answer not known 
 

168. What was the retirement year of Sachin Tendulkar? 
a. 2012   b. 2013   c. 2014 
d. 2015   e. Answer not known 
 

169. “He banged against furniture, 
upsetting flower – pots and  
making general havoc”. 
Here „He‟ refers 
a. Aunt Polly   b. Peter    c. Tom 
d. Joe Harper   e. Answer not known 
 

170. The line “What has that got to do that with it? Occurs in the play. 
a. The story of a Grizzly Cub  b. The little Hero of Holland 
c. The last lesson    d. The Cat and the Painkiller 
e. Answer not known 
 

171. The charm of Tom‟s life was lost because of his friend _____. 
a. Tom Sawyer b. Aunt Polly   c. Becky Thatcher   
d. Peter  e. Answer not known 
 

172. „She stood petrified with astonishment peering over her glasses‟ 
Whose words are these 
a. Mark Twain b. Aunt Polly   c. Becky Thatcher 
d. Tom  e. Answer not known 
 

173. According to author Sir C.V. Raman the imaginary elixir of life is ____. 
a. Milk  b. Honey    c. Water 
d. Amruta  e. Answer not known 
 

174. According to Sir C.V. Raman the real elixir of life is ____ 
a. Rain  b. River c. Water d. Honey e. Answer not known 
 

175. The water is rain – fed tanks get its colour from 
a. Earth in Catchment area  b. Jungles 
c. From the animals   d. People add colours 
e. Answer not known 
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176. In the lesson „Water-The Elixir of Life‟. The land where silt is deposited is usually 
____ 
a. Barren   b. Very fertile   c. Useless 
d. Unproductive  e. Answer not known 
 

177. The main cause of soil erosion is ____ 
a. Over Grazing  b. Construction of Buildings c. Agriculture 
d. Heavy Rain  e. Answer not known 
 

178. The reasons of soil erosion are due to ____ in the lesson „water‟. 
a. Cutting and washing away the soil b. Removal of top protective layer 
c. Gullies and ravines   d. All of the above 
e. Answer not known 
 

179. C.V. Raman‟s comparative of water in a landscape to the eyes in a human face, 
because ___. 
a. They look like eyes    b. Both have water in it 
c. Eye‟s shape resembles the rainfed tanks. d. It reflects the mood of the hour 
e. Answer not known 
 

180. Find out the odd pair from those given below. 
a. Egypt  - River Nile 
b. Soil erosion - Rainfall 
c. Elixir of life - Water 
d. Tom  - Young man 
e. Answer not known 
 

181. Match the characters give under Column A with the titles given under Column 
B. 
Column A    Column B 
A.  Seagull    1. The Tempest 
B. Miranda    2. Learning the Game 
C. Mr. Watson   3. His first flight 
D. Ramakant Achrekar  4. The Dying Detective 
 A B C D 
a. 1 3 2 4 
b. 3 1 4 2 
c. 4 3 2 1 
d. 1 4 3 2 
e. Answer not known 
 

182. Mention the subject for which Sir C.V. Raman earned Nobel Prize in 1930. 
a. Social – work  b. Physics    c. Maths 
d. Chemistry   e. Answer not known 
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183. Miranda was brought to the island ______ years ago.  
a. fourteen  b. ten     c. twelve    
d. five  e. Answer not known 

 
184. Prospero ordered Ariel to bring _______ to his place.  

a. Gonzalo   b. Ferdinand   c. King of Naples   
d. Antonio   e. Answer not known 
 

185. The second human being that Miranda saw on the island was______ 
  a. Ariel   b. Prospero    c. Ferdinand   

d. Gonzalo   e. Answer not known 
 
186. Identify the character or speaker 

He was the chief of all spirits  
a. Ariel   b. Prospero    c. Ferdinand   
d. Gonzalo   e. Answer not known 
 

187. Identify the character or speaker 

It seems to me like the recollection of a dream  
a. Ariel   b. Prospero    c. Ferdinand   

d. Miranda.   e. Answer not known 
 

188. Identify the character or speaker 

I was Duke of Milan, and you were a princess  
a. Ariel   b. Prospero     c. Ferdinand   
d. Miranda.   e. Answer not known 
 

189. Identify the character or speaker 

I must finish my task before I take my rest.”  
a. Ariel   b. Prospero    c. Ferdinand   
d. Miranda.  e. Answer not known 
 

190. Identify the character or speaker 

He repented and implored his brother‟s forgiveness.  
a. Ariel   b. Antonio    c. Ferdinand   
d. Miranda.  e. Answer not known 
 

191. Identify the character or speaker 

“I want you to go across the dike and take these cakes to your friend, the 
blind man.”  
a. Peter‟s mother  b. Peter   c. A man going to work 

d. None of these  e. Answer not known 
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192. Identify the character or speaker 

“Tell them to come quickly!”  
a. Peter‟s mother  b. Peter   c. A man going to work 

d. None of these  e. Answer not known 

 
193. Identify the character or speaker 

„That is, I believe they do.‟ 
a. Peter   b. Tom   c. Aunt Polly 
d. None of these  e. Answer not known 
 

194. Identify the character or speaker 

„I done it out of pity for him.‟  
a. Peter   b. Tom   c. Aunt Polly 
d. None of these  e. Answer not known 
 

195. Identify the character or speaker 

He is one of my friends.  
a. Arun   b. Satish   c. Arun‟s Mother 
d. None of these  e. Answer not known 
 

196. Finally Aunt Polly said to Tom that he __________________  
a. need not take any more medicine. 
b. has to go to school regularly. 
c. should not meet any of his friends. 
d. must take medicines every day. 
e. Answer not known 
 

197. Peter sprang a couple of yards in the air as __________ 
a. he had a teaspoon of the pain-killer. 
b. his tail was caught in the mouse trap. 
c. Tom threw him out of the window. 
d. Aunt gave him a push. 
e. Answer not known 
 

198. Little Cyclone is a grizzly cub who earned his name by his ____________ 
a. appearance and behaviour. 
b. vigour of resistance to ill-treatment. 
c. speed and courage. 
d. escape from a cyclone. 
e. Answer not known 
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199. The nervous captor let one bear go because ________________ 
a. he was afraid of bears. 
b. he did not have proper equipment to seize him. 
c. the bear fought so fiercely 
d. the bear escaped and ran away. 
e. Answer not known 
 

200. Little Czar was a ___________ 
a. good natured European brown bear. 
b. grizzly cub from Alaska. 
c. furry little Polar bear.  
d. North American black bear. 
e. Answer not known 

 


